Source Function A = 0x86, 1, 0x01

PMX[C,R,B,J,N,E][2,4]xx-[3,5]Axx[A,D]xx
Fundtion = x5, 1, 0005 2 1 analog input
Units = 0x86, 1, 0x1D 2 DIO
Input Point 1 = 0x86, 1, 0x08
Output Point 1= 0xg6, 1, 0x12 1 control loop
O s o 4 outputs (Digital or Process)
No enhanced firmware option

Output Function = 0x6A, 2, 0x05

Output Function Instance = 0x6A, 2, 0x06
Output Control = 0x6A, 2, 0x02

Output Time Base = 0x6A, 2, 0x03
Output Low Power Scale = 0x6A, 2, 0x09
Output High Power Scale = 0x6A, 2, 0x0A

Output Function = 0x6A, 1, 0x05

Output Function Instance = 0x6A, 1, 0x06
Output Control = 0x6A, 1, 0x02

Output Time Base = 0x6A, 1, 0x03
Output Low Power Scale = 0x6A, 1, 0x09
Output High Power Scale = 0x6A, 1, 0x0A

Output Type = 0x76, 1, 0x01
Output Function = 0x76, 1, 0x02 Range High = 0x76, 1, 0x0C

Retransmit Source = 0x76, 1, 0x03 Output Low Power Scale = 0x76, 1 ,0x0D
Output Function Instance = 0x76, 1, 0x04 Output High Power Scale = 0x76, 1, 0xOE
Scale Low = 0x76, 1, 0x09 Offset = 0x76, 1, 0x07

Scale High = 0x76, 1, 0x0A

Range Low = 0x76, 1, 0x0B

Sensor Type = 0x68, 1, 0x05
TC Linearization = 0x68, 1, 0x06
RTD Leads = 0x68, 1, 0x07
Units = 0x68, 1, 0x2A

Scale Low = 0x68, 1, OxOF

Output Point 2 = 0x86, 1, 0x13
Input Point 3 = 0x86, 1, 0x0A

Scale High = 0x68, 1, 0x10 Output Point 3 = 0x86, 1, 0x14 - O, O(/ O(/ O, O O, O(/
Range Low = Ox68, 1., Ox1 Input Point 4 = 0x86, 1, 0x0B CIP registers - red text lg’of?‘/z‘/y, Lo %0/’0 % (g’off’%&
Range High = 0x68, 1, 0x12 Output Point 4 = 0x86, 1, 0x15 o (/(O oy, {9/} O(/ G/;.e &, h/ //} o (/(O [ {9/}

o = Input Point 5 = 0x86, 1, 0x0C U, R %5, U, 0 R,
Process Error Enable = 0x68, 1, 0x1E p ro = UXeb, 1, ’fo(/f 20,70, %, WS, Sp S >, '?0 O, 011/ 0y 2 0 0y,
Process Error Low Value = 0x68, 1, 0x1F IOUtptuFt> P_Ol”é 5 o 052361! 16 0636 OO/)% S8 o@f 3 =2 Pe 0,70/}900’7@, Q/G % & 0@ &S o@f &, O . %% SN
Thermistor Curve = 0x68, 1, 0x26 nput Foint 6 = Uxsb, 1, Ux Yoy Ve Ve s o6 “0n Yo ’70 {9,5 O, 0B U U

S, U OS5 C5,Cs,
Output Point 6 = 0x86, 1, 0x17 S o TSe Y% Y%
Input Point 7 = 0x86, 1, 0x0E

Output Point 7 = 0x86, 1, 0x18

Resistance Range = 0x68, 1, 0x25
Filter = 0x68, 1, Ox0E
Input Error Latching = 0x68, 1, 0x1C

Heat Algorithm = 0x6C, 1, 0x03
Cool Algorithm = 0x6C, 1, 0x04
Cool Output Curve = 0x6C, 1, 0x26

Fixed Power = 0x6B, 1, 0x0B
Open Loop Detect Enable = 0x6C, 1, 0x27
Open Loop Detect Time = 0x6C, 1, 0x28

YYVY YYVYYVYYYYVYVY YVYVy

Display Precision = 0x68, 1, 0x14 Input Poin? 8= _Ox86, 1, OxOF Heat Proportional Band = 0x6C, 1, 0x09 Open Loop Detect Deviation = 0x6C, 1, 0x29 .| Output Function = Heat Power —> Output Function = Heat Output Function = Alarm
Calibration Offset = 0x68, 1, 0x0C Output Point EE = 0x86, 1, 0x19 Heat Hysteresis = 0x6C, 1, 0x0A Ramp Action = 0x6B, 1, OxOE " Output Function Instance = 1 Output Function Instance = 1 ) Output Function Instance = 1
Clear Latch Request = 0x68, 1, 0x1D Input Point 9 = 0x86, 1, 0x10 Source Function A = 0x7E, 1, 0x01 Cool Proportional Band = 0x6C, 1, 0x0C Ramp Scale = 0x6B, 1, 0xOF o _ _ o _
Output Point 9 = 0x86, 1, Ox1A Source Instance A = 0x7E. 1. 0x06 Cool Hysteresis = 0x6C, 1, 0x0D Ramp Rate = 0x6B, 1, 0x11 Output Digital Function - Output Process Function Output Digital Function -
gput Point 10 0x86 1L oxI Source Function B = 0x7E, 1, 0x02 Time Integral = 0x6C, 1, 0x06 Low Set Point = 0x6B, 1, 0x03 Overview - Overview Overview
utput Foin = Uxob, 1, Ux = 1 Time Derivative = 0x6C, 1, 0x07 High Set Point = 0x6B, 1, 0x04 0x6A, 1, 0x0 0x76, 1, 0x12 0x6A, 2, 0x0
¢ - Source Instance B = 0x7E, 1, 0x07 ime s g 1 Instance 1 | Ox6A, 1, 0x0h, Instance 1 | 0x76, 1, Ox12y, Instance 2 | OxBA, 2, 0x05,
Aofooe 4, % Offset = 0x86, 1, 0x06 Function = OX7E, 1, 0x15 Dead Band = 0x6C, 1, 0x08 Closed-Loop Set Point = 0x68B, 1, 0x01 Source Value XA 1 Ox0F Source Value 076 1 00 Source Value oA 2 OOF
o s, ‘?é\,’} '?@/S (/’é\ Oe/és’Q .9, Pressure Units = Ox7E, 1, 0x1C TRU-TUNE+ Enable = 0x6C, 1, 0x16 Idle Set Point = 0x6B, 1, 0x09 Source Error |2X0A. 1. UXUhy, Electrical Output Offset |-2X/6. 1. 0x05, Source Error |20, £, OXUhy,
HNES &, /"/~O O 7y Q)b 0, % Altitude Units = 0x7E, 1, 0x1D TRU-TUNE+ Band = 0x6C, 1, 0x22 Set Point Open Limit Low = 0x6B, 1, 0x05 0xBA, 1, 0x0 ) 0x76, 1, 0x0 0xBA, 2, 0x0
%Of@e,/'jfb ‘ @ofce,;’) '? 9 ’of <oh,‘9/b » G A f * X ’5‘@ . "»ooj.” Ly Barometric Pressure = OX7E, 1, 0x1E TRU-TUNE+ Gain = 0x6C, 1, 0x23 Set Point Open Limit High = 0x6B, 1, 0x06 Input State 2x0A. 1. 008, Electrical Output Slope 270, 1. 0x06, Input State 204, 2. 008,
7} i O CA ,,// { 6;0 ’7%/ s/(/ (”L 206 ,/, 6/,7 ‘9’0 }%‘@%@s %, (’/71‘7{’7/7 o Filter = OX7E, 1, Ox1A Autotune Set Point = 0x6C, 1, 0x19 Open Loop Set Point = 0x6B, 1, 0x02 Output Power 0x6A, 1, 0x0 Analog Out Control Operation | 0x76, 1, 0x11,, Output Power 0xBA, 2, 0x0.
Lo "0 % ° ¢ %, /;,/ 7 07 ’f&e Offset = Ox7E, 1, 0x17 Autotune Aggressiveness = 0x6C, 1, 0x18 Control Mode = 0x6C, 1, 0x01 OX6A. 1. 0x07 0x76. 1. Ox1 OXGA. 2. 0x07
K 0 0% Peltier Delay = 0x6C, 1, 0x33 Autotune = 0x6C, 1, Ox1A Output Value —————p Output Value 4(& Output Value ———=——"p
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ @e,o User Failure Action = 0x6B, 1, 0x0C Loop Error Clear Request = 0x6C, 1, 0x31 ' o W1, X1, Y1, or . F1, H1, G1 ' — W2, Y2 or
R1, % Analog Input Analog Input Value (Unfiltered) 0x68, 1, Ox01} A’e ’7//).7@&‘ Input Error Failure = 0x6B, 1, 0x0D Time Prgporttlo‘m‘ngl Qu‘tput J1, K1, L1 Process Output Option ‘F’ Time Eropgn!opqu Qu‘tp‘ut K2, L2
0x68. 1. 0x16 ,osé‘(,%//o,o Options ‘C’, ‘E’, ‘K Options ‘C’, ‘H’, ‘J’, ‘K
Analog Input Filtered Value X028 1. X »> 2 f’e(/oé(/’ Op.
. . om0 e X, N 20,
Analog Input Function - Overview Input Error (0x68.1.0x02 Linearization Function O s s e “or Vs S5, o, N T, 2, s, %24, o So e, ¢, o
Instance 1 , I 1zau unction - ¥, (7 ” 4o % O 0 0
RTD Lead Resistance |-0X68.1.0x03y, Overview ¢ ¢ ¢ ¢ ¢ ¢ 4, OO /g % ,3,@ ;~ '?Q });?(/ %(7;102@40 '?s,})ofsé/‘?s,.:?,oo %, O<O°§ 0@ 6?0’ <, /;7 O: o, o 7o
. 0x68, 1, 0x04 Sox 9, 0/791/70/ e 9, N~ /@/e/é‘ P 0.8, A, w 9% 0 %, S Co Qs
Ambient Temperature —=—r—>0 o 1 00 Instance 1Output Value 086, 1, 0x07 - ‘., 54©0®0,O 0@/,3}&; e J’®Z /,7’09%0 e@xé\/l,&o,v&@ ‘%f S/IZG’G S ,o%/ ) ;/‘O, /4—@0, S 0% 6\:670/0@5,% j,% @@f G@f ,S%/ ,S? X ,g’b/f/"?/,?& o 4(% '?
. e 2 V5
Electial Input Offset | 22312 Output Error 0x86. 1, 0x1C > g Py %% 0% 9%y g 6’70'%/ 9,70,0% RN @/y O”7 NN //‘”e% %5 e Yo Yo, 0‘9/ %%f Ve O V0, 08 % A o 7
; 0x68, 1, 0x0 > i i
Electrical Input Slope |-2X68. 1. 0x0By 0x86. 1. 0x04 PV Function - Overview
—1_:—>
Eloctical Measurement 0168, 1.0X15, Source Value A instance 1 YV Y VY VY VY VY VY YV YV YV YV Y VYV YV YV Y YV YV Yy
Output Value Ox7E, 1,0x16 Heat Power |OX6C. 1, 0x0B
Output Error Ox7E, 1, 0x1C > . _ Cool Power -9X6C. 1, OxO_F,
OX7E. 1. Ox1 Control Function - Overview 0x6C. 1. 0x2
Source Value A —'—'—0> Instance 1 Power 41>
Source Value B (2X/E-1.0x11,, Closed-Loop Set Point - 2X68. 1. 0x07,
Open Loop Set Point Ox6B, 1, 0x0
Autotune Status uec, 1, 0x1
Open Loop Error %OXGC, 1, 0x3
Control Active Mode 0x6C, 1, 0x0
Bumpless Set Point 0x6B, 1, 0x0
Ramp Set Point (Produced) 0x6B, 1, 0x1
Ramp Set Point (Target) 4‘“)(68' 1,0x1
Idle Set Point - 2X6B. 1. 0x
Output Function = 0x6A, 3, 0x05 Output Type = 0x76, 3, 0x01 Range Low = 0x76, 3, 0x0B Output Function = 0x6A, 4, 0x05
Output Function Instance = 0x6A, 3, 0x06 Output Function = 0x76, 3, 0x02 Range High = 0x76, 3, 0x0C Output Function Instance = 0x6A, 4, 0x06
Output Control = 0x6A, 3, 0x02 Retransmit Source = 0x76, 3, 0x03 Output Low Power Scale = 0x76, 3, 0xOD ~ OQutput Control = 0x6A, 4, 0x02
Output Time Base = 0x6A, 3, 0x03 Output Function Instance = 0x76, 3, 0x04 Output High Power Scale = 0x76, 3, 0xXOE ~ Output Time Base = 0x6A, 4, 0x03
Output Low Power Scale = 0x6A, 3, 0x09 Scale Low = 0x76, 3, 0x09 Offset = 0x76, 3, 0x07 Output Low Power Scale = 0x6A, 4, 0x09
Output High Power Scale = 0x6A, 3, Ox0A Scale High = 0x76, 3, 0x0A Output High Power Scale = 0x6A, 4, 0x0A
%, %, %y, %,
U, % A g , 5 0/ 1
o(/ <O 'S} O, 'S5, 'S} ( 'S}
O, ", 2 % (RTINS hr/} O’fohﬂ%
Gp, Tp R O, %, s, ’?,? Gp, “p SRR
, 7 0y, 0y Uy, (74 ’”" /;7/; ", @o @0 %, th o,,,/ 'O(// 7 0y, 0y
%, 7o s’é‘ o, 'O(’/ 2 S 0‘5'/ Q/Ge ,s, 9@ ,s, G, O,;, QG ’7)@@@, N
KA AN Do Yoy 75 03 o0, oy 94,0 KA AN
) Output Function = Off — | Output Function = Off ) Output Function = Off
Output Function Instance = 1 Output Function Instance = 1 Output Function Instance = 1
Output Digital Function - Output Process Function Output Digital Function -
Overview - Overview Overview
Instance 3 Source Value -2X6A.3. 0x00, Instance 3 Source Value |-2X76.3.0x12y Instance 4 Source Value 2X8A-4. 00,
Source Error M Electrical Output Offset 0x76, 3, 0x0 Source Error M
Input State -9X6A. 3. 0x0 Electrical Output Slope |-2X76. 3. 0x0 Input State -2X6A. 4. 0x0
Output Power 48>0X6A’ 3, 0x0 Analog Out Control Operation 4>0X76’ 3, Ox11 Output Power ;&OXGA’ 4, 0x0
Output Value M} Output Value 0x76, 3, Ox1 Output Value M
W3, X3, Y3, or F3, H3, G3 W4, Y4 or
Not in 1/32 DIN J3, K3, L3 Not in 1/32 DIN Not in 1/32 DIN K4, L4
Time Proportioning Output Process Output Option ‘F’ Time Proportioning Output
Options ‘C’, 'E’, ‘K’ Options ‘C’, ‘H', 'J’, 'K
Alarm Type = 0x6D, 1, Ox0F Alarm Type = 0x6D, 2, Ox0F Alarm Type = 0x6D, 3, Ox0F Alarm Type = 0x6D, 4, 0xOF
Alarm Source = 0x6D, 1, 0x11 Alarm Source = 0x6D, 2, 0x11 Alarm Source = 0x6D, 3, 0x11 Alarm Source = 0x6D, 4, 0x11
Alarm Source Instance = 0x6D, 1, 0x12 Alarm Source Instance = 0x6D, 2, 0x12 Alarm Source Instance = 0x6D, 3, 0x12 Alarm Source Instance = 0x6D, 4, 0x12
Digital I/O Direction = 0x6A, 5, 0x01 Digital I/O Direction = 0x6A, 6, 0x01 Control Loop = 0x6D, 1, 0x17 Control Loop = 0x6D, 2, 0x17 Control Loop = 0x6D, 3, 0x17 Control Loop = 0x6D, 4, 0x17
Output Function = 0x6A , 5, 0x05 Output Function = 0x6A , 6, 0x05 Alarm Hysteresis = 0x6D, 1, 0x03 Alarm Hysteresis = 0x6D, 2, 0x03 Alarm Hysteresis = 0x6D, 3, 0x03 Alarm Hysteresis = 0x6D, 4, 0x03
Output Function Instance = 0x6A , 5, 0x06 Output Function Instance = 0x6A , 6, 0x06 Alarm Logic = 0x6D, 1, 0x05 Alarm Logic = 0x6D, 2, 0x05 Alarm Logic = 0x6D, 3, 0x05 Alarm Logic = 0x6D, 4, 0x05
Output Control = 0x6A , 5, 0x02 Output Control = 0x6A , 6, 0x02 Alarm Sides = 0x6D, 1, 0x04 Alarm Sides = 0x6D, 2, 0x04 Alarm Sides = 0x6D, 3, 0x04 Alarm Sides = 0x6D, 4, 0x04
Output Time Base = 0x6A , 5, 0x03 Output Time Base = 0x6A , 6, 0x03 Alarm Low Set Point = 0x6D, 1, 0x02 Alarm Low Set Point = 0x6D, 2, 0x02 Alarm Low Set Point = 0x6D, 3, 0x02 Alarm Low Set Point = 0x6D, 4, 0x02
Output Low Power Scale = 0x6A , 5, 0x09 Output Low Power Scale = 0x6A , 6, 0x09 Alarm High Set Point = 0x6D, 1, 0x01 Alarm High Set Point = 0x6D, 2, 0x01 Alarm High Set Point = 0x6D, 3, 0x01 Alarm High Set Point = 0x6D, 4, 0x01
Output High Power Scale = 0x6A , 5, 0x0A Output High Power Scale = 0x6A , 6, 0x0A Alarm Latching = 0x6D, 1, 0x07 Alarm Latching = 0x6D, 2, 0x07 Alarm Latching = 0x6D, 3, 0x07 Alarm Latching = 0x6D, 4, 0x07
Active Level = Ox6E , 1, 0x01 Active Level = 0x6E , 2, 0x01 Alarm Blocking = 0x6D, 1, 0x08 Alarm Blocking = 0x6D, 2, 0x08 Alarm Blocking = 0x6D, 3, 0x08 Alarm Blocking = 0x6D, 4, 0x08
Action Function = 0x6E , 1, 0x03 Action Function = 0x6E , 2, 0x03 Alarm Silencing = 0x6D, 1, 0x06 Alarm Silencing = 0x6D, 2, 0x06 Alarm Silencing = 0x6D, 3, 0x06 Alarm Silencing = 0x6D, 4, 0x06
Function Instance = Ox6E , 1, 0x04 Function Instance = 0x6E , 2, 0x04 Alarm Display = 0x6D, 1, 0x10 Alarm Display = 0x6D, 2, 0x10 Alarm Display = 0x6D, 3, 0x10 Alarm Display = 0x6D, 4, 0x10
Alarm Delay Time = 0x6D, 1, 0x15 Alarm Delay Time = 0x6D, 2, 0x15 Alarm Delay Time = 0x6D, 3, 0x15 Alarm Delay Time = 0x6D, 4, 0x15
o o Alarm Clear Request = 0x6D, 1, 0x0D Alarm Clear Request = 0x6D, 2, 0x0D Alarm Clear Request = 0x6D, 3, 0x0D Alarm Clear Request = 0x6D, 4, 0x0D
O(/,«(/ O(% (//0 O(/,«(/ O(% 0/0 Alarm Silence Request = 0x6D, 1, Ox0E Alarm Silence Request = 0x6D, 2, OxOE Alarm Silence Request = 0x6D, 3, OxOE Alarm Silence Request = 0x6D, 4, Ox0E
Y. QR o %0 % 2 O, 0% Qs <0 “% 2
% 4 %0, 0, %2, ey, %, 2 % Qoo % 0, ey, 4
© f;o o oo"" fg%o%’oh,g%golg:o/ © f;o (/,/’ <% ’g%o%foh,g%golg:o, 4 Y, 4/‘9’ 44/4;; ”’& 4 Y, 4/‘9’ 44/4;; ”’& 4 4/‘9’%% 74 'f;%”@ 4 % 4/%; 44/4;; ”’&
NN &.S¢ Sy P S 7 7 7 % Y 7 7
//QQO/QOOGPZ}QQ O/O/'s/;/)/@OOGb{}Q/) %, & 47 \Z & 4 i, <&9994 CL 7% 7 (6' »</f
0, %0y, 20 Yoy Ve s o ey 0p Yoy 0, %0y, 20 Yoy Ve s e by 0p Yo 4{9’7)&4/ 4/, @/ @*9/;,7 ,,)f s, ’770 @«9,”0@ 4{9’7;&4/ 4/, S/ @*9/;,7 ,,)f s, ’770 @«9,/’0@ /s' ’3} 49 df N /;))f /;77 @@»oe % 'Sj,"/ef’/, S/ &*9»,,) ,,;@f 6‘/’;7))0 Qg,”o@
7 f 2 7 MONCNE 0t (o ’oe % FSC 076‘6‘%@"0 oy, 00, © (o) ’oe % PSC ( 2 sf&ef@ % /O % (o %%/%@%fs% 7 PR 7 MONCNE 0 /’700’09 D
, A, B5, D5 if VY YVYVYVYVVYY B5, D6 if VY YVYVYVYVVYY es% 0 g Oy Oy g g g 0y s s, D B35 2015 g Oy Oy g g g 0y s s, g 9/ 05 Oy Ot 70 g g Pl sy, D6 B35 2015 g Oy Oy g g g 0y s s,
, ; direction —» Digital Input Value direction —3 Digital Input Value
e, %,. % A %,. %, ar 9 p air
| g R | g R s nput DIO Function - Overvi s nput DIO Function - Overi YV VYYVYVYVVYYVY YV VYYVYVYVVYYVY YV VYYVYVYVVYYVY YV VYYVYVYVVYYVY
Active Level = 0x6E, 3, 0x01 - L D S% Active Level = 0x6E, 4, 0x01 g Py % unction - Dverview unction - Dverview 0x6D, 1, 0x0 0x6D, 2, 0x0 0x6D, 3. 0x0 0x6D, 4, 0x0
ctive Level = UXGE, 5, UX S % 9/70 ctive Level = UXGE, 4, UX S s, Instance 5 Instance 6 Alarm Source = Analog Input Alarm State -0X6D. 1. 0x09, Alarm Source = Analog Input Alarm State -9X6D. 2, 0x0§, Alarm Source = Analog Input Alarm State -0X6D. 3. 0x09, Alarm Source = Analog Input Alarm State 0X6D. 4. 0x09,
Action Function = Ox6E, 3, 0x03 7 Action Function = Ox6E, 4, 0x03  "&/ ™ “& OX6E. 1. 0x0 OX6E. 2. 0x0 —» Alarm Source Instance = 1 0x6D. 1. 0x0 —» Alarm Source Instance = 1 0x6D. 2. 0XO0. —» Alarm Source Instance = 1 0x6D. 3. 00 —» Alarm Source Instance = 1 0x6D. 4. 0x0
Function Instance = Ox6E, 3, 0x04 ¢ ¢ ¢ Function Instance = Ox6E, 4, 0x04 ¢ ¢ ¢ Event Status 45> Event Status —’—5> Control Loop = 1 Alarm Latched 4'L¥ Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched %
Input State 264 2. 008, Input State  2X6A. 6. 008, Alarm Function - Overview Alarm Silenced 2X6D. 1. 0x05, Alarm Function - Overview Alarm Silenced -2X60. 2. 0x0§, Alarm Function - Overview Alarm Silenced 2X60. 3. 0x05, Alarm Function - Overview Alarm Silenced | 2X60. 4. 0x05,
—» EZKey —» EZKey Inst 1 Inst 2 Inst 3 Inst 4
Function Key Overview Function Key Overview Input Value Ox6A, 5, 0x0 Input Value Ox6A, 6, 0x0 nstance Alarm Clearable 0x6D, 1, 0x0 nstance Alarm Clearable 0x6D, 2, 0x0 nstance Alarm Clearable 0x6D, 3, 0x0 nstance Alarm Clearable 0x6D, 4, 0x0
Instance 1 Instance 2 Output Power Ox6A, 5, 0x0 Output Power Ox6A, 6, 0x0 Alarm Working Process Value 0x6D, 1, Ox1 Alarm Working Process Value 0x6D, 2, Ox1 Alarm Working Process Value 0x6D, 3, 0x1 Alarm Working Process Value 0x6D, 4, 0x1
Event Status |-0X6E. 3. 0x0 Event Status |-0X6E. 4. 0x0 Output Error M Output Error M Alarm Working Set Point 0x6D, 1, 0x1 Alarm Working Set Point 0x6D, 2, 0x1 Alarm Working Set Point 0x6D, 3, 0x1 Alarm Working Set Point 0x6D, 4, 0x1
Input State AOXGA‘ 1.0x0 Input State AOXGA‘ 2, 0x0 Output State 4}0X6A’ 5, 0x07, Output State —’—>0X6A 6. 0x07, Output Value 4“6'3' 1, 0x1 Output Value —’—MD 2, 0x1 Output Value —’—’—8>0X6D 3, 0x1 Output Value 4“6[)' 4, 0x1
B5, D5 if ) B5, D6 if
Not in 1/32 DIN Not in 1/32 or 1/16 DIN DIO Options ‘2’, ‘4’ direction DIO Options ‘2’, ‘4’ direction
is output is output
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Soures Fnton A= 05, 1 010 PMx[C,R,B,J,N,E][1,3]xx-[3,5]Axx[A,D]xx Ouiput Furcon = 0464, 2, 0105

- . Output Function Instance = 0x6A, 2, 0x06
ESﬁ;ﬁi;"f%’;‘g%ﬁ 0%856' 1, 0x02 1 analog input Output Function = 0x6A, 1, 0x05 Output Type = 0x76, 1, 0x01 Range Low = 0x76, 1, 0x0B Output Control = 0x6A, 2, 0x02
Units = 0x86. 1 Ox1 D 0 DIO Output Function Instance = 0x6A, 1, 0x06 Output Function = 0x76, 1, 0x02 Range High = 0x76, 1, 0x0C Output Time Base = 0x6A, 2, 0x03
_ Input Point 1 _ bx86 1. 0x08 Output Control = 0x6A, 1, 0x02 Retransmit Source = 0x76, 1, 0x03 Output Low Power Scale = 0x76, 1 ,0x0D Output Low Power Scale = 0x6A, 2, 0x09
Sensor Type = OX_G& 1, 0x05 Output Point 1 = 0x86. 1. 0x12 1 control IOOp Output Time Base = 0x6A, 1, 0x03 Output Function Instance = 0x76, 1, 0x04 Output High Power Scale = 0x76, 1, OxOE Output High Power Scale = 0x6A, 2, 0x0A
;%')-'Eeagz"f'gneé 0X6% 3, 0X00 Input Point 2 = 0x86. 1, 0x09 M Output Low Power Scale = 0x6A, 1, 0x09 Scale Low = 0x76, 1, 0x09 Offset = 0x76, 1, 0x07
DL beads = s, L X Output Point 2 = 0x86, 1, 0x13 4 outputs (Digital or Process) Output High Power Scale = 0x6A, 1, 0x0A Scale High = 0x76, 1, 0x0A
Scale Low = 0x68, 1, OxOF Input Point 3 = 0x86, 1, 0x0A - :
Scale High = 0x68, 1, 0x10 Output Point 3 = 0x86, 1, Ox14 NO enh?nced flrmware Opt|0n OO O(// O(/f OO O O(/ O(//
Range Low = 0x68, 1, 0x11 Input Point 4 = 0x86, 1, 0x0B CIP registers - red text L PSRN %/’o Lo
Range High = 0x68, 1, 0x12 Output Point 4 = 0x86, 1, 0x15 024,50, % 0., ,/Y/ 6 024,40, %,
le = Input Point 5 = 0x86, 1, 0x0C U, Y 0 R, 0, %%, U, 0 R,
Process Error Enable = 0x68, 1, 0x1E p @, 20y, 0y, 202 S 0 8 S, /‘P Ry O 011/ @ 00, 0,
Process Error Low Value = 0x68, 1, 0x1F Output Point 5 = 0x86, 1, 0x16 fOO e Sr & [b(// ’(Z,,? //SO /’7@,09/6,09 09@ S’e O ‘. or oo
Thermistor Curve = 0x68, 1, 0x26 Input Point 6 = 0x86, 1, 0x0D /)”o/ e Vo Vo }ko@o”o,;‘”o ’70 62% 011,690,5 Os/ G, /;:“e, /7”0/@9&@ % %
Resistance Range = 0x68, 1, 0x25 |0Utptulg P_Ol”; 6 =o Oggﬁi 16 05<E17 Heat Algorithm = 0x6C, 1, 0x03 Fixed Power = 0x6B, 1, 0x0B
Filter = 0x68, 1, OxOE nput Foint /= UXa0, 1, UX Cool Algorithm = 0x6C, 1, 0x04 Open Loop Detect Enable = 0x6C, 1, 0x27
Input Error Latching = 0x68, 1, 0x1C Output Point 7 = 0x86, 1, 0x18 Cool Output Curve = 0x6C, 1, 0x26 Open Loop Detect Time = 0x6C, 1, 0x28 ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Display Precision = 0x68, 1, 0x14 gtht F:%'”F 8t g _O)Bi%; 110)60)(':19 Heat Proportional Band = 0x6C, 1, 0x09  Open Loop Detect Deviation = 0x6C, 1, 0x29 _| Output Function = Heat Power — Output Function = Heat Output Function = Alarm
Calibration Offset = 0x68, 1, 0x0C utput Foint & = o Heat Hysteresis = 0x6C, 1, 0x0A Ramp Action = 0x6B, 1, OxOE " Output Function Instance = 1 Output Function Instance = 1 ) Output Function Instance = 1
Clear Latch Request = 0x68, 1, 0x1D Input Point 9 = 0x86, 1, 0x10 Source Function A = 0x7E, 1, 0x01 Cool Proportional Band = 0x6C, 1, 0x0C Ramp Scale = 0x6B, 1, 0xOF o _ _ o _
|OUtptuFt> P'Oln1t (? - é) ng ’ 11 ’c? x111A Source Instance A = 0x7E, 1, 0x06 Cool Hysteresis = 0x6C, 1, 0x0D Ramp Rate = 0x6B, 1, 0x11 Output Digital Function - Output Process Function Output Digital Function -
Sﬁfput‘.’a'gim 10= )Bxg'e 4 )BX1B Source Function B = 0x7E, 1, 0x02 pme Bte_gratl_ = Oxgcég’ ?X(())607 h?vpséettF;O'htf %X%% 11, %X%?; Overview OXEA. 1 0x0 - Overview X761 Ox12 Overview OXEA. 2. 0x0
¢ - n Source Instance B = 0x7E, 1, 0x07 ime Derivative = xoL, 1, UX igh Set Foint = U055, 1, UX Instance 1 | Ox6A, 1, 0x0h, Instance 1 | 0x76, 1, Ox12y, Instance 2 | OxBA, 2, 0x05,
Ao, %, % Offset = 0x86, 1, 0x06 Function = OX7E, 1. 0x15 Dead Band = 0x6C, 1, 0x08 Closed-Loop Set Point = 0x6B, 1, 0x01 Source Value Source Value Source Value
7‘0 Cag @4\07‘ l?e/s (/’é\ Oe/éef< 4 Q, Pressure Units = 0x7E, 1, 0x1C TRU-TUNE+ Enable = 0x6C, 1, 0x16 Idle Set Point = 0x6B, 1, 0x09 Source Error M} Electrical Output Offset 0x76, 1, 0x0 Source Error M
HNES &, /"/~O O 7y Q)b 0, % Altitude Units = 0x7E, 1, 0x1D TRU-TUNE+ Band = 0x6C, 1, 0x22 Set Point Open Limit Low = 0x6B, 1, 0x05 0xBA, 1, 0x0 ) 0x76, 1, 0x0 0xBA, 2, 0x0
%Of@e,/'jfb ‘ @ofce,;’) '? 9 ’of <oh,‘9/b » G A f * X ’5‘@ . "»ooj.” Ly Barometric Pressure = OX7E, 1, 0x1E TRU-TUNE+ Gain = 0x6C, 1, 0x23 Set Point Open Limit High = 0x6B, 1, 0x06 Input State 2x0A. 1. 008, Electrical Output Slope 270, 1. 0x06, Input State 204, 2. 008,
7} i O CA ,,// { 6;0 ’7%/ s/(/ (”L 206 ,/, 6/,7 ‘9’0 }%‘@%@s %, (’/71‘7{’7/7 o Filter = OX7E, 1, Ox1A Autotune Set Point = 0x6C, 1, 0x19 Open Loop Set Point = 0x6B, 1, 0x02 Output Power 0x6A, 1, 0x0 Analog Out Control Operation | 0x76, 1, 0x11,, Output Power 0xBA, 2, 0x0.
Lo "0 % ° ¢ %, /;,/ 7 07 ’f&e Offset = Ox7E, 1, 0x17 Autotune Aggressiveness = 0x6C, 1, 0x18 Control Mode = 0x6C, 1, 0x01 OX6A. 1. 0x07 0x76. 1. Ox1 OXGA. 2. 0x07
K 0 0% Peltier Delay = 0x6C, 1, 0x33 Autotune = 0x6C, 1, Ox1A Output Value —————p Output Value 4(& Output Value ———=——"p
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ @e,o User Failure Action = 0x6B, 1, 0x0C Loop Error Clear Request = 0x6C, 1, 0x31 ' o W1, X1, Y1, or . F1, H1, G1 ' — W2, Y2 or
R1, ﬂl} Analog Input Analog Input Value (Unfiltered) 0x68, 1, Ox01} A’@s e, Input Error Failure = 0x6B, 1, 0x0D TlmeoPI;onrt‘lg‘m‘nEgl ngtput J1, K1, L1 Process Output Option ‘F’ Tlmoe Fropg&tl‘omr‘]g‘JQu‘th‘ut K2, L2
. 0x68, 1, 0x16 RS g R prons = = prons & T
Analog Input Filtered Value — » & fe(/ @0’ o
. . om0 e X, N 20,
Analog Input Function - Overview Input Error (0x68.1.0x02 Linearization Function O s s e “or Vs S5, o, N T, 2, s, %24, o So e, ¢, o
i izati unction - o8 2, S, SO, o 2. "0,
Instance 1 RTD Lead Resistance |-2x68.1.0x03y, Overview ¢ ¢ ¢ ¢ ¢ ¢ A OO /g 20 ’3’@ 7‘ ,?(/‘;;?(/ %(7;’012@40 /?@//ZO@&? . A/?'o‘/ <O%Z)< Oﬁ Do 2?0, <o /;} O,Z) % ) o
. 0x68, 1, 0x04 Sox 9, (//7'9//2‘0/ e 9, NN LR 0% % 159, &, R P 0., A w 9% 0 %, S Co S5,
Ambient Temperature 22— Instance 1 4,74, %%, RN ”7 JORRONKS! 9 © 8. 885, Y O 8 R Hny 7o, M, S 04 X o, © ONY
_ P 0x68. 1. 0x0. Output Value [2x86. 1. 0x07 > K oj,(oo,/"/ CHCN ”9/ J’% M, @ob S, S, BN, g@/ S"’e,,G’OS N 5’43’ /@0' OO" 4;76’0 O@p;%‘,% &@f &@/,f@/,g? /,g’b,, ”’7//’/ 4%;?
Electrical Input Offset —'—’A Output Error 0x86. 1, 0x1C _ ’6,,7 "/;,770,1/ e,, s% ‘9’70' %0» @ ‘9/70,‘96/ Q”o’ %, o,,)/ S5, @/} o,,7 J/ 1}00 /(”"e N % /,) /}oo 00/7 09/ % o,,,/ O//),« O//;, O//;,« o, @6 Oo' (5 0‘9@,«
; 0x68, 1, 0x0 > i i
Electrical Input Slope |-2X68. 1. 0x0By 0x86. 1. 0x04 PV Function - Overview
—1_:—>
Eloctical Measurement 0168, 1.0X15, Source Value A instance 1 YV Y VY VY VY VY VY YV YV YV YV Y VYV YV YV Y YV YV Yy
Output Value Ox7E, 1, 0x16 » Heat Power Ox6C, 1, 0x0B
Output Error Ox7E, 1, 0x1C > Control F i o _ Cool Power -9X6C. 1, OxO_F,
Source Value A OX7E. 1. 0x1 ontrol Function - Overview b ] 0x6C. 1, 0x2
ource Value Instance 1 owe
Source Value B (2X/E-1.0x11,, Closed-Loop Set Point - 2X68. 1. 0x07,
Open Loop Set Point 0x6B, 1, 0x0
Autotune Status 0x6C, 1, 0x1
Open Loop Error %OXGC, 1, 0x3
Control Active Mode 0x6C, 1, 0x0
Bumpless Set Point 0x6B, 1, 0x0
Ramp Set Point (Produced) 0x6B, 1, 0x1
Ramp Set Point (Target) 4‘“)(68' 1,0x1
Idle Set Point - 2X6B. 1. 0x
Output Function = 0x6A, 3, 0x05 Output Type = 0x76, 3, 0x01 Range Low = 0x76, 3, 0x0B Output Function = 0x6A, 4, 0x05
Output Function Instance = 0x6A, 3, 0x06 Output Function = 0x76, 3, 0x02 Range High = 0x76, 3, 0x0C Output Function Instance = 0x6A, 4, 0x06
Output Control = 0x6A, 3, 0x02 Retransmit Source = 0x76, 3, 0x03 Output Low Power Scale = 0x76, 3, 0xOD ~ OQutput Control = 0x6A, 4, 0x02
Output Time Base = 0x6A, 3, 0x03 Output Function Instance = 0x76, 3, 0x04 Output High Power Scale = 0x76, 3, 0xXOE ~ Output Time Base = 0x6A, 4, 0x03
Output Low Power Scale = 0x6A, 3, 0x09 Scale Low = 0x76, 3, 0x09 Offset = 0x76, 3, 0x07 Output Low Power Scale = 0x6A, 4, 0x09
Output High Power Scale = 0x6A, 3, Ox0A Scale High = 0x76, 3, 0x0A Output High Power Scale = 0x6A, 4, 0x0A
%, %, %y, %,
U, % A g , 5 0/ 1
o(/ <O 'S} O, 'S5, 'S} ( 'S}
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) Output Function = Off > Output Function = Off ) Output Function = Off
Output Function Instance = 1 Output Function Instance = 1 Output Function Instance = 1
Output Digital Function - Output Process Function Output Digital Function -
Overview - Overview Overview
Instance 3 Source Value -2X6A.3. 0x00, Instance 3 Source Value |-2X76.3.0x12y Instance 4 Source Value 2X8A-4. 00,
Source Error M Electrical Output Offset 0x76, 3, 0x0 Source Error M
Input State -9X6A. 3. 0x0 Electrical Output Slope |-2X76. 3. 0x0 Input State -2X6A. 4. 0x0
Output Power Ox6A, 3, 0x0 Analog Out Control Operation M» Output Power Ox6A, 4, 0x0
Output Value M} Output Value 0x76, 3, Ox1 Output Value M
W3, X3, Y3, or F3, H3, G3 W4, Y4 or
Not in 1/32 DIN J3, K3, L3 Not in 1/32 DIN Not in 1/32 DIN K4, L4
Time Proportioning Output Process Output Option ‘F’ Time Proportioning Output
Options ‘C’, 'E’, ‘K’ Options ‘C’, ‘H', 'J’, 'K
Alarm Type = 0x6D, 1, Ox0F Alarm Type = 0x6D, 2, Ox0F Alarm Type = 0x6D, 3, Ox0F Alarm Type = 0x6D, 4, 0xOF
Alarm Source = 0x6D, 1, 0x11 Alarm Source = 0x6D, 2, 0x11 Alarm Source = 0x6D, 3, 0x11 Alarm Source = 0x6D, 4, 0x11
Alarm Source Instance = 0x6D, 1, 0x12 Alarm Source Instance = 0x6D, 2, 0x12 Alarm Source Instance = 0x6D, 3, 0x12 Alarm Source Instance = 0x6D, 4, 0x12
Control Loop = 0x6D, 1, 0x17 Control Loop = 0x6D, 2, 0x17 Control Loop = 0x6D, 3, 0x17 Control Loop = 0x6D, 4, 0x17
Alarm Hysteresis = 0x6D, 1, 0x03 Alarm Hysteresis = 0x6D, 2, 0x03 Alarm Hysteresis = 0x6D, 3, 0x03 Alarm Hysteresis = 0x6D, 4, 0x03
Alarm Logic = 0x6D, 1, 0x05 Alarm Logic = 0x6D, 2, 0x05 Alarm Logic = 0x6D, 3, 0x05 Alarm Logic = 0x6D, 4, 0x05
Alarm Sides = 0x6D, 1, 0x04 Alarm Sides = 0x6D, 2, 0x04 Alarm Sides = 0x6D, 3, 0x04 Alarm Sides = 0x6D, 4, 0x04
Alarm Low Set Point = 0x6D, 1, 0x02 Alarm Low Set Point = 0x6D, 2, 0x02 Alarm Low Set Point = 0x6D, 3, 0x02 Alarm Low Set Point = 0x6D, 4, 0x02
Alarm High Set Point = 0x6D, 1, 0x01 Alarm High Set Point = 0x6D, 2, 0x01 Alarm High Set Point = 0x6D, 3, 0x01 Alarm High Set Point = 0x6D, 4, 0x01
Alarm Latching = 0x6D, 1, 0x07 Alarm Latching = 0x6D, 2, 0x07 Alarm Latching = 0x6D, 3, 0x07 Alarm Latching = 0x6D, 4, 0x07
Alarm Blocking = 0x6D, 1, 0x08 Alarm Blocking = 0x6D, 2, 0x08 Alarm Blocking = 0x6D, 3, 0x08 Alarm Blocking = 0x6D, 4, 0x08
Alarm Silencing = 0x6D, 1, 0x06 Alarm Silencing = 0x6D, 2, 0x06 Alarm Silencing = 0x6D, 3, 0x06 Alarm Silencing = 0x6D, 4, 0x06
Alarm Display = 0x6D, 1, 0x10 Alarm Display = 0x6D, 2, 0x10 Alarm Display = 0x6D, 3, 0x10 Alarm Display = 0x6D, 4, 0x10
Alarm Delay Time = 0x6D, 1, 0x15 Alarm Delay Time = 0x6D, 2, 0x15 Alarm Delay Time = 0x6D, 3, 0x15 Alarm Delay Time = 0x6D, 4, 0x15
Alarm Clear Request = 0x6D, 1, 0x0D Alarm Clear Request = 0x6D, 2, 0x0D Alarm Clear Request = 0x6D, 3, 0x0D Alarm Clear Request = 0x6D, 4, 0x0D
Alarm Silence Request = 0x6D, 1, OxOE Alarm Silence Request = 0x6D, 2, OxOE Alarm Silence Request = 0x6D, 3, OxOE Alarm Silence Request = 0x6D, 4, Ox0E
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! =X L 01}00‘9/)0 Active Level = Ox6E, 4, L ’}6,7‘9’70 Alarm Source = Analog Input Alarm State  |10X6D. 1. 0x0 Alarm Source = Analog Input Alarm State |12X6D. 2. 0x0 Alarm Source = Analog Input Alarm State  |12X6D. 3. 0x0 Alarm Source = Analog Input Alarm State |0X6D. 4. 0x0
Action Function = (1x6E, 3, 0x03 7 Action Function = (1x6E, 4,0x03 & ® —» Alarm Source Instance = 1 0x6D, 1, 0x0A —»| Alarm Source Instance = 1 0x6D. 2. Ox0OA —— Alarm Source Instance = 1 0x6D. 3. 0x0A ——» Alarm Source Instance = 1 0x6D, 4, 0x0
Function Instance = 0x6E, 3, 0x04 ¢ ¢ ¢ Function Instance = 0x6E, 4, 0x04 ¢ ¢ ¢ Control Loop = 1 Alarm Latched 4'L¥ Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched %

— » EZK = Alarm Function - Overview Alarm Silenced -2X6D. 1. 0x08, Alarm Function - Overview Alarm Silenced -2X6D. 2. 0x05, Alarm Function - Overview Alarm Silenced -2X6D.3. 0x05, Alarm Function - Overview Alarm Silenced -2X6D.4. 0x08,
ey ey Inst 1 Inst 2 Inst 3 Inst 4
Function Key - Overview Function Key - Overview nstance Alarm Clearable 0x6D, 1, 0x0 nstance Alarm Clearable 0x6D, 2, 0x0 nstance Alarm Clearable 0x6D, 3. 0x0 nstance Alarm Clearable 0x6D, 4, 0x0
Instance 1 Instance 2 Alarm Working Process Value 0x6D, 1, Ox1 Alarm Working Process Value 0x6D, 2, Ox1 Alarm Working Process Value 0x6D, 3, Ox1 Alarm Working Process Value 0x6D, 4, Ox1
Event Status |-0X6E. 3. 0x0 Event Status |-0X6E. 4. 0x0 Alarm Working Set Point 0x6D, 1, 0x1 Alarm Working Set Point 0x6D, 2, 0x1 Alarm Working Set Point 0x6D, 3, 0x1 Alarm Working Set Point 0x6D, 4, 0x1
Input State AOXGA‘ 1.0x0 Input State AOXGA‘ 2, 0x0 Output Value 4“6'3' 1, 0x1 Output Value —’—MD 2, 0x1 Output Value —’—’—8>0X6D 3, 0x1 Output Value 4“6[)' 4, 0x1
Not in 1/32 DIN Not in 1/32 or 1/16 DIN
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Source Functon A= 05, 1. 010 PMx[C,R,B,J,N,E][1,3]xx-[3,5][C,J]xX[A,D]xx Gutpu Funton =04, 2,005

- . Output Function Instance = 0x6A, 2, 0x06
ESﬁ;ﬁi;"f%’;‘g%ﬁ 0%856' 1, 0x02 2 analog inputs Output Function = 0x6A, 1, 0x05 Output Type = 0x76, 1, 0x01 Range Low = 0x76, 1, 0x0B Output Control = 0x8A, 2, 0x02
Units = 0x86. 1 Ox1 D 0 DIO Output Function Instance = 0x6A, 1, 0x06 Output Function = 0x76, 1, 0x02 Range High = 0x76, 1, 0x0C Output Time Base = 0x6A, 2, 0x03
_ Input Point 1 _ bx86 1. 0x08 Output Control = 0x6A, 1, 0x02 Retransmit Source = 0x76, 1, 0x03 Output Low Power Scale = 0x76, 1 ,0x0D Output Low Power Scale = 0x6A, 2, 0x09
Sensor Type = OX_G& 1, 0x05 Output Point 1 = 0x86. 1. 0x12 2 control IOOpS Output Time Base = 0x6A, 1, 0x03 Output Function Instance = 0x76, 1, 0x04 Output High Power Scale = 0x76, 1, OxOE Output High Power Scale = 0x6A, 2, 0x0A
;%')-'Eeagzat'gneé 0X6% 3, 0X00 Input Point 2 = 0x86. 1, 0x09 M Output Low Power Scale = 0x6A, 1, 0x09 Scale Low = 0x76, 1, 0x09 Offset = 0x76, 1, 0x07
eads = 0x68, 1, Ox b ; - Fh =
Ot 065, 1 oo IOUtptul'E P'Oin; 9 - °§§61' 16 05(A1 3 4 outputs (Digital or Process) Output High Power Scale = 0x6A, 1, 0x0A Scale High = 0x76, 1, 0x0A
Scale Low = 0x68, 1, OxOF nput Point 3 = 0x36, 1, Ox i i
Scale High = 0x68, 1, 0x10 Output Ppint 3= 0x86, 1, 0x14 NO enh?nced flrmware Opt|0n OO/O(// O(/f OO/O O(//O(,/
Range Low = 0x68, 1, 0x11 Input Point 4 = 0x86, 1, 0x0B CIP registers - red text Sy, PN "o/’o ., Sy,
iah = Output Point 4 = 0x86, 1, 0x15 L Lo, 0O, %%, %, (PRGN
Range High = 0x68, 1, 0x12 ) T o(/ z,b(/ A,,AO/}A s, %5, ey h, /} o(/ ’,'o(/ A,,A%A
Process Error Enable = 0x68, 1, 0x1E Input Point 5 = 0x86, 1, 0x0C Py “r0,’ 0, 00’04,//(\&,,7/;/0,)/ OO '?O O, 011/ %y “r0,’ 0,
Process Error Low Value = 0x68, 1, 0x1F Output Point 5 = 0x86, 1, 0x16 Q. % & o '00/}0,70 S, ’7@, Q/G % & 0@& ) O Oo,)% SaSs
Thermistor Curve = 0x68, 1, 0x26 '(gtht F;?)'”F Et;g 0)68%61 110)6037 /7%/ o Ve Oe/s N ’}0,7(”0 ’70 {9,5 oy, %05 Os/ Oe/ Se TN OS'/@ OG/G
Resistance Range = 0x68, 1, 0x25 utput Foint 6 = Uxco, 1, UX Heat Algorithm = 0x6C, 1, 0x03 Fixed Power = 0x6B, 1, 0x0B
Filter = 0x68, 1, OXOE Input Point 7= 0x86, 1, 0xOE Cool Algorithm = 0x6C, 1, 0x04 Open Loop Detect Enable = 0x6C, 1, 0x27
Input Error Latching = 0x68, 1, 0x1C Output Point 7 = 0x86, 1, 0x18 Cool Output Curve = 0x6C, 1, 0x26 Open Loop Detect Time = 0x6C, 1, 0x28 ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Display Precision = 0x68, 1, 0x14 Input Pom? 8= _Ox86, 1, OxOF Heat Proportional Band = 0x6C, 1, 0x09 Open Loop Detect Deviation = 0x6C, 1, 0x29 .| Output Function = Heat Power —> Output Function = Heat Output Function = Alarm
Calibration Offset = 0x68, 1, 0x0C IOutptulg P_olné 8 _O Oé(6861’ 16 O1X019 Heat Hysteresis = 0x6C, 1, 0x0A Ramp Action = 0x6B, 1, OxOE " Output Function Instance = 1 Output Function Instance = 1 ) Output Function Instance = 1
Clear Latch Request = 0x68, 1, 0x1D nput Foint 9= Uxco, 1, UX Source Function A = 0x7E, 1, 0x01 Cool Proportional Band = 0x6C, 1, 0x0OC Ramp Scale = 0x6B, 1, 0x0F
Output Point 9 = 0x86, 1, Ox1A Source Instance A = 0x7E. 1. 0x06 Cool Hysteresis = 0x6C, 1, 0x0D Ramp Rate = 0x6B, 1, 0x11 Output Digital Function - Output Process Function Output Digital Function -
gput Point 10 0x86 1L oxI Source Function B = 0x7E, 1, 0x02 Time Integral = 0x6C, 1, 0x06 Low Set Point = 0x6B, 1, 0x03 Overview - Overview Overview
utput Foin = Uxoo, 1, UX = 1 Ti Derivative = 0x6C, 1, 0x07 High Set Point = 0x6B, 1, 0x04 0x6A, 1, 0x0 0x76, 1, 0x12 0x6A, 2, 0x0
¢ - Source Instance B = 0x7E, 1, 0x07 ime s g 1 Instance 1 | Ox6A, 1, 0x0h, Instance 1 | 0x76, 1, Ox12y, Instance 2 | OxBA, 2, 0x05,
Ao, %, % Offset = 0x86, 1, 0x06 Function = OX7E, 1. 0x15 Dead Band = 0x6C, 1, 0x08 Closed-Loop Set Point = 0x6B, 1, 0x01 Source Value Source Value Source Value
7 e @@0 NN op, Qs oXs ¢ 4 Pressure Units = 0x7E, 1, 0x1C TRU-TUNE+ Enable = 0x6C, 1, 0x16 Idle Set Point = 0x6B, 1, 0x09 Source Error |- 2X6A. 1. 0x0Fy, Electrical Output Offset 276 1. 0x0 Source Error |- 2X6A. 2, 0x0Fy
HNES &, /"/~O O 7y Q)b 0, % Altitude Units = 0x7E, 1, 0x1D TRU-TUNE+ Band = 0x6C, 1, 0x22 Set Point Open Limit Low = 0x6B, 1, 0x05 0xBA, 1, 0x0 ) 0x76, 1, 0x0 0xBA, 2, 0x0
%O”@ef/b @ofce,/’) '? o ’of <oh,‘9/b Co A f * X ’5‘@ "»00;” 2, Barometric Pressure = 0x7E, 1, OX1E TRU-TUNE+ Gain = 0x6C, 1, 0x23 Set Point Open Limit High = 0x6B, 1, 0x06 Input State 2x0A. 1. 008, Electrical Output Slope 270, 1. 0x06, Input State 204, 2. 008,
"% *e,;cf S04 G4 G% '7%/%,00% o ,,, 6,,7 s,o O 9 "Z,,) 2 ;% 7, 9 Filter = OX7E, 1, Ox1A Autotune Set Point = 0x6C, 1, 0x19 Open Loop Set Point = 0x6B, 1, 0x02 Output Power | -0XBA. 1, 0x0 Analog Out Control Operation -2X76. 1. 0x11y, Output Power |-0XBA. 2. 0x0
Lo "0 % % <o ® S S %, %,,f 70,77 Offset = OX7E, 1, 0x17 Autotune Aggressiveness = 0x6C, 1, 0x18 Control Mode = 0x6C, 1, 0x01 OXBA. 1. OXOT 0x76. 1. Ox1 OXBA. 2. OXOT
K 0 0% Peltier Delay = 0x6C, 1, 0x33 Autotune = 0x6C, 1, Ox1A Output Value | 2X0A, 1, OXUhy, Output Value 4(& Output Value | OX0A, 2, OXUly,
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ @e,o User Failure Action = 0x6B, 1, 0x0C Loop Error Clear Request = 0x6C, 1, 0x31 ' o W1, X1, Y1, or . F1, H1, G1 ' — W2, Y2 or
R1, % Analog Input Analog Input Value (Unfiltered) 0x68, 1, Ox01} A,& 4/;7.7@@‘ Input Error Failure = 0x6B, 1, 0x0D Time Prgporttlo‘m‘ngl Qu‘tput J1, K1, L1 Process Output Option ‘F’ Time Eropgn!opqu Qu‘tp‘ut K2, L2
_ 0x68. 1. 0x16 ks% %, 0 4y Options ‘C’, ‘E’, ‘K Options ‘C’, ‘H’, ‘J’, ‘K
Analog Input Filtered Value — »> 2 f’e(/oé(/’ Op.
. . om0 e X, N 20,
Analog Input Function - Overview Input Error 1 0X68.1,0x02 Linearization Function O s s e “or Vs S o N T, 2, %, 9 ¢, o So e, ¢, o
- S, G, (S (o) [0)
Instance 1 RTD Lead Resistance 2X68.1.0x03, Overview ¢ ¢ ¢ ¢ ¢ ¢ 4y, OO ;’0 %0, ’3’@ 7‘ ,?(/‘;;?(/ %(7 (/’01?(/649 /?@//ZO@&? &, A/?'o‘/ <O%Z)< gg %, 2?0, O/;} O,Z) %, 7o
S5."0n, O 3, %, . ) s 0, % s, C
Ambient Temperature |-2X68. 1. 0x04y, Instance 1 0x86. 1. 0X07 ;4/0/4/(%0/7 /;f’sj,/?}/, ’. J,/b GO 9 /l/@x % O/Vg@&s\?’e g, @/GS //ooe,/ é\”Of o, G[(GO/OO OIO 7 /?‘9/); NN S‘e e 0’7/} 4@ 7Ry
Output Value L o> 00,90, 0, ¥ &%, ¥ & % //;, @@ RN SINCRININS 5’4 0 & By P4, .3 2 87 5 O & S8 S8 e i [ ) Vg
. 0x68, 1, OXO& i 3, C‘(/ 8.6, 78 ‘c, s, o G &, % sy, O /79 %5 Yoy, O DL Uy of %,
Flectrical Input Offset Output Error |2x86. 1. 0x1C ® > iy oy g 0,59 5%, g 6’70' % V0% O”7/ RN O”7 % o O Yo Mo % "7 90 % %%f Ve O Vg 0, 708 6 6 S5
. 0x68, 1, 0x0 > i i
Electrical Input Slope |-2X68. 1. 0x0By 0x86. 1. 0x04 PV Function - Overview
Source Value A X0, 1. VX0, Inst 1
Electrioal Measuroment 068, 1. 0X15, YV VY Y Y Y VY Y VY Y Y YV Y Y VY Y YV Y Y VYV YV Y YV YV Y VY
Output Value Ox7E, 1,0x16 Heat Power |OX6C. 1, 0xOB
Output Error 0x7E, 1, 0x1C > . ] Cool Power 0x6C, 1, OxO_F,
OX7E. 1. Ox1 Control Function - Overview 0x6C. 1. 0x2
Source Value A —'—'—0> Instance 1 Power 41> :
Source Value B (2X/E-1.0x11,, Closed-Loop Set Point - 2X68. 1. 0x07,
» Open Loop Set Point 48“))(68’ 1,0x0
» Autotune Status 0x6C, 1, 0x1
Open Loop Error %OXGC, 1, 0x3
Control Active Mode 0x6C, 1, 0x0
Bumpless Set Point 0x6B, 1, 0x0
Ramp Set Point (Produced) 0x6B, 1, 0x1
Ramp Set Point (Target) 0x6B, 1, 0x1
Idle Set Point [ 2X6B. 1. 0x15,
Source Function A = 0x86, 2, 0x01
ES,‘#;%%;”:‘%’;%%A; 0%856‘ 2, 0x02 Output Function = 0x6A, 3, 0x05 Output Type = 0x76, 3, 0x01 Range Low = 0x76, 3, 0x0B Output Function = 0xBA, 4, 0x05
Units = 0x86. 2 Ox1 D Output Function Instance = 0x6A, 3, 0x06 Output Function = 0x76, 3, 0x02 Range High = 0x76, 3, 0x0C Output Function Instance = 0x6A, 4, 0x06
Input Point 1 . bx86 2 0x08 Output Control = 0x6A, 3, 0x02 Retransmit Source = 0x76, 3, 0x03 Output Low Power Scale = 0x76, 3, 0xOD ~ OQutput Control = 0x6A, 4, 0x02
Sensor Type = 0x68, 2, 0x05 Output Point 1 = OxéG ’2 0x12 Output Time Base = 0x6A, 3, 0x03 Output Function Instance = 0x76, 3, 0x04 Output High Power Scale = 0x76, 3, 0xXOE ~ Output Time Base = 0x6A, 4, 0x03
TC Linearization = 0x68, 2, 0x06 i = > 0 Output Low Power Scale = 0x6A, 3, 0x09 Scale Low = 0x76, 3, 0x09 Offset = 0x76, 3, 0x07 Output Low Power Scale = 0x6A, 4, 0x09
14 Input Point 2 = 0x86, 2, 0x09 Hiah P le = OxBA 0A o Hiah P le = OxBA. 4 A
RT_D Leads = 0x68, 2, 0x07 Output Point 2 = 0x86, 2, 0x13 Output High Power Scale = 0x6A, 3, Ox Scale High = 0x76, 3, 0x0A Output High Power Scale = 0x6A, 4, 0x0
Units = 0x68, 2, 0x2A Input Point 3 = 0x86, 2, 0X0A
Scale Low = 0x68, 2, 0x0F Output Point 3 = 0x86, 2, 0x14 9,9, 0, 0,9, 0, o/
gcale Hngh = %X%Sé 22 %X1ﬂ Input Point 4 = 0x86, 2, 0x0B éb(,,fe,, . ,?’bl,,k %, ,, % (,,((, .
ange Low = 0x6g, 2, Ux Output Point 4 = 0x86, 2, 0x15 (7 0,86, ¢ o, %
Range High = 0x68, 2, 0x12 Input Point 5 = 0x86, 2, 0x0C O ¥ 57 45 Y, s, % o, Oo o %
. p 2, Dol 700, 0, O Py 25, %0y & S, 2, Ry R th% P, 70, 0y,
Process Error Enable = 0x68, 2, Ox1E Output Point 5 = 0x86, 2, 0x16 ‘0 e 1oy Yo {b(// Q/o//é\ N Oe/oe /79@ @f o NN
Process Error Low Value = 0x68, 2, 0x1F Input Point 6 = 0x86, 2, 0x0D .. S50, S0 %, %0 %, %, f,} © /s; 6; 0. Se 3 %, S Ses,Se.
i = ; & "o “Se Ve V% ,OOoo 06011,0/}‘9/‘9/8 "o “Se Y% V%
Thermistor Curve = 0x68, 2, 0x26 Output Point 6 = 0x86, 2, 0x17 L . _ Y Se o o SN ¢ Y Se e o
Resistance Range = 0x68, 2, 0x25 | ¢ Point 7 = 0x86 2 0 OE Heat Algor_lthm = 0x6C, 2, 0x03 Fixed Power = 0x6B, 2, 0x0B
Filter = 0x68. 2 OXOE nput Foint 7= XS0, 2, UX Cool Algorithm = 0x6C, 2, 0x04 Open Loop Detect Enable = 0x6C, 2, 0x27 ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Input Error Latching = 0x68, 2, 0x1C Output Point 7= 0x86, 2, 0x18 Cool Output Curve = 0x6C, 2, 0x26 Open Loop Detect Time = 0x6C, 2, 0x28
; icion = "0 Input Point 8 = 0x86, 2, 0xOF Heat Proportional Band = 0x6C, 2, 0x09  Open Loop Detect Deviation = 0x6C, 2, 0x29 Output Function = Heat Power — % Output Function = Off Output Function = Off
Display Precision = 0x68, 2, 0x14 Output Point 8 = 0x86, 2, 0x19 o Lt » p ! p I - I
Calibration Offset = 0x68, 2, 0x0C o 3 Heat Hysteresis = 0x6C, 2, 0x0A Ramp Action = 0x6B, 2, 0xOE Output Function Instance = 2 Output Function Instance = 1 Output Function Instance = 1
Clear Latch Request = 0x68, 2, 0x1D Input Point 9 = 0x86, 2, 0x10 Source Function A = 0x7E, 2, 0x01 Cool Proportional Band = 0x6C, 2, 0x0C ~ Ramp Scale = 0x6B, 2, 0xOF o _ _ o _
o Output Point 9 = 0x86, 2, Ox1A Source Instance A = 0x7E. 2. 0x06 Cool Hysteresis = 0x6C, 2, 0x0D Ramp Rate = 0x6B, 2, 0x11 Output Digital Function - Output Process Function Output Digital Function -
Input Point 10 = 0x86, 2, Ox11 Source Function B = 0x7E, 2, 0x02 Time Integral = 0x6C, 2, 0x06 Low Set Point = 0x6B, 2, 0x03 Overview - Overview Overview
2, Output Point 10 = 0x86, 2, 0x1B Source Instance B = Ox7E. 2. 0x07 Time Derivative = 0x6C, 2, 0x07 High Set Point = 0x6B, 2, 0x04 Instance 3 Source Value |0X6A. 3. 0x0Q Instance 3 Source Value |0X76.3, 0x12 Instance 4 Source Value |OXGA.4.0x0Q
RN 4, % Offset = 0x86, 2, 0x06 Function = Ox7E. 2. 0x15 Dead Band = 0x6C, 2, 0x08 Closed-Loop Set Point = 0x6B, 2, 0x01 >
7‘0 Oc'e *5‘4), l?e/s 0’6\ Oe/éef< 4 Pressure Units = Ox7E, 2, 0x1C TRU-TUNE+ Enable = 0x6C, 2, 0x16 Idle Set Point = 0x6B, 2, 0x09 Source Error M Electrical Output Offset 0x76, 3, 0x0 Source Error M
HNES %, /"/~O Oy Q)b 0, % Altitude Units = 0x7E, 2, 0x1D TRU-TUNE+ Band = 0x6C, 2, 0x22 Set Point Open Limit Low = 0x6B, 2, 0x05 0xBA, 3, 0x0 . 0x76, 3, 0x0 0xBA, 4, 0x0
%O”@sf/b @ofce,/’) '? o ’of <oh,‘9/b Co A ’ * > ’5‘@ "»00;” 2, Barometric Pressure = Ox7E, 2, Ox1E TRU-TUNE+ Gain = 0x6C, 2, 0x23 Set Point Open Limit High = 0x6B, 2, 0x06 Input State 204, 3. 008, Electrical Output Slope +270..3. 0x06, Input State (2X0A.4. 005,
"2 e%z S04 G4 G% ’7%/%/00% 2 //, 6/,, %o,;& %, "Z/,, %% g Filter = OX7E, 2, OX1A Autotune Set Point = 0x6C, 2, 0x19 Open Loop Set Point = 0x6B, 2, 0x02 Output Power |-0X6A. 3. 0x0 Analog Out Control Operation |-2X76. 3. 0x11,, Output Power |0XBA. 4, 0x0
Lo "0 (Q % <o S S %, %,,f 70,77 Offset = OX7E, 2, 0x17 Autotune Aggressiveness = 0x6C, 2, 0x18 Control Mode = 0x6C, 2, 0x01 OXBA. 3. OXOT 0x76. 3. Ox1 OXBA. 4. OXOT
K 0 0% Peltier Delay = 0x6C, 2, 0x33 Autotune = 0x6C, 2, Ox1A Output Value | 2X0A, 9, XUl Output Value X4XO> Output Value X0, 2, VXD,
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ Ge,o User Failure Action = 0x6B, 2, 0x0C Loop Error Clear Request = 0x6C, 2, 0x31 W3, X3, Y3, or F3, H3, G3 W4, Y4 or
R2, S2, T2 , 0x68,2,0x01 Input Error Failure = 0x6B, 2, 0x0D Not in 1/32 DIN J3, K3, 13 Not in 1/32 DIN Not in 1/32 DIN K4, L4
==—= Analog Input Analog Input Value (Unfiltered) 0X68.2.0x16 > /g%j/%% o, Time Proportioning Output Process Output Option ‘F’ Time Proportioning Output
Analog Input Filtered Value X00,2,% » & f %0 O Options ‘C’, ‘E’, ‘K’ Options ‘C’, ‘H’, 'J’, ‘'K
. . om0 1 S, L 20,
Analog Input Function - Overview Input Error | 0x68.2.0x02 Linearization Function oy 7l 5 e o S o N Y, 2, %, 9 ¢, o So e, ¢, o
- S, G, Q, (o) [0)%
Instance 2 RTD Lead Resistance 2x68.2.0x03, Overview ¢ ¢ ¢ ¢ ¢ ¢ A, OO ;’0 %0 ’3’@ 7‘ '?(/‘;;?(/ );?(7 (/’Ozze'q@ /?@070@\?9 & A/?'o‘/ <O%Z)< ;? % 2?0, O/;} O,Z) %, 7o
. 0x68, 2, 0x04 o 20y Op ;) 9 o« O s D . SR 7,06 00 Rt V8 9 & 8 ° 0. %, R W %% <o %25 ,C, Ss,
A Te | UX0O, £, UXVay, Instance 1 Vg g 70, o; O ® 38 @/ Q o (R Ty, Sy, q— en oy 9 S, 0 )
mbient Temperature D5 2 00 Output Value | 0x86.2.0<07g > 4/02790?0’ /73/’31/@[ /)9/ J/@/s //;’Oe% e@xéﬂ/@x e, S X S/"e o S v O @4;3» A o @;@O O@p/% /);0 &@ s Sor ,o&s/ 39@/,2 /);/;”77,,«& o 4(%,9
Electrical Input Offset 2X68.2. 0x0A Output Error | _0x86.2.0x1C g _ RSN e @% «9,70, %0» @ 5, O,%/ Qf)o,oe//) %, /’7@8 @/ 5, O/,7 % 000’/(/,6011/ A D, 9/}00 %, 09/ % O/,,/ iy Oy Ol S0y, o %, e
I Fepy Soucovanon 08200 | || PV FUnCn Qrenew R R R R R R R R R R R R R R R R R AR
Electrical Measurement 0x68, 2, OX15¥
Not in 1/32 or 1/16 DIN OX7E,2,0x16 0x6C, 2, 0x0B
Not in 1/32 or 1/16 DIN 2nd Loop Option Output Value e 2 001G » Heat Power 60 2. 030
2nd Loop Option Output Error | —XE.2.0X » . . Cool Power [2X6C. 2. 0x0f,
P OX7E 2 0x1 Control Function - Overview 0x6C. 2 0x2
Source Value A 4()» - Instance 2 Power 41> :
Source Value B —XTE20xT, Closed-Loop Set Point [ 2X68. 2. 0x07y,
» Open Loop Set Point 0x6B, 2, 0x0
» Autotune Status 0x6C, 2, 0x1
0x6C, 2, 0x3
Not in 1/32 or 1/16 DIN Open Loop Error 2X6C.2.03G,
2nd Loop Option Control Active Mode 0x6C, 2, 0x0
Bumpless Set Point 0x6B, 2, 0x0
Ramp Set Point (Produced) 0x6B, 2, 0x1
Ramp Set Point (Target) 4‘“(68’ 2, 0x1
Idle Set Point 2X6B. 2. 0x
Not in 1/32 or 1/16 DIN
2nd Loop Option Alarm Type = 0x6D, 1, 0xOF Alarm Type = 0x6D, 2, 0xOF Alarm Type = 0x6D, 3, OxOF Alarm Type = 0x6D, 4, 0xOF
Alarm Source = 0x6D, 1, Ox11 Alarm Source = 0x6D, 2, 0x11 Alarm Source = 0x6D, 3, 0x11 Alarm Source = 0x6D, 4, 0x11
Alarm Source Instance = 0x6D, 1, 0x12 Alarm Source Instance = 0x6D, 2, 0x12 Alarm Source Instance = 0x6D, 3, 0x12 Alarm Source Instance = 0x6D, 4, 0x12
Control Loop = 0x6D, 1, 0x17 Control Loop = 0x6D, 2, 0x17 Control Loop = 0x6D, 3, 0x17 Control Loop = 0x6D, 4, 0x17
Alarm Hysteresis = 0x6D, 1, 0x03 Alarm Hysteresis = 0x6D, 2, 0x03 Alarm Hysteresis = 0x6D, 3, 0x03 Alarm Hysteresis = 0x6D, 4, 0x03
Alarm Logic = 0x6D, 1, 0x05 Alarm Logic = 0x6D, 2, 0x05 Alarm Logic = 0x6D, 3, 0x05 Alarm Logic = 0x6D, 4, 0x05
Alarm Sides = 0x6D, 1, 0x04 Alarm Sides = 0x6D, 2, 0x04 Alarm Sides = 0x6D, 3, 0x04 Alarm Sides = 0x6D, 4, 0x04
Alarm Low Set Point = 0x6D, 1, 0x02 Alarm Low Set Point = 0x6D, 2, 0x02 Alarm Low Set Point = 0x6D, 3, 0x02 Alarm Low Set Point = 0x6D, 4, 0x02
Alarm High Set Point = 0x6D, 1, 0x01 Alarm High Set Point = 0x6D, 2, 0x01 Alarm High Set Point = 0x6D, 3, 0x01 Alarm High Set Point = 0x6D, 4, 0x01
Alarm Latching = 0x6D, 1, 0x07 Alarm Latching = 0x6D, 2, 0x07 Alarm Latching = 0x6D, 3, 0x07 Alarm Latching = 0x6D, 4, 0x07
Alarm Blocking = 0x6D, 1, 0x08 Alarm Blocking = 0x6D, 2, 0x08 Alarm Blocking = 0x6D, 3, 0x08 Alarm Blocking = 0x6D, 4, 0x08
Alarm Silencing = 0x6D, 1, 0x06 Alarm Silencing = 0x6D, 2, 0x06 Alarm Silencing = 0x6D, 3, 0x06 Alarm Silencing = 0x6D, 4, 0x06
Alarm Display = 0x6D, 1, 0x10 Alarm Display = 0x6D, 2, 0x10 Alarm Display = 0x6D, 3, 0x10 Alarm Display = 0x6D, 4, 0x10
Alarm Delay Time = 0x6D, 1, 0x15 Alarm Delay Time = 0x6D, 2, 0x15 Alarm Delay Time = 0x6D, 3, 0x15 Alarm Delay Time = 0x6D, 4, 0x15
Alarm Clear Request = 0x6D, 1, 0x0D Alarm Clear Request = 0x6D, 2, 0x0D Alarm Clear Request = 0x6D, 3, 0x0D Alarm Clear Request = 0x6D, 4, 0x0D
Alarm Silence Request = 0x6D, 1, OxOE Alarm Silence Request = 0x6D, 2, OxOE Alarm Silence Request = 0x6D, 3, OxOE Alarm Silence Request = 0x6D, 4, Ox0E
s, b, U s,
4/6' 4/6% 44/ &) 4/6' 4/6% 44/ &) 4{9/~4/9r 4/ 6'77) 4/6' 4/6% 44/ &)
4/9/‘ ’3 S » %, ’7);/)7 V% 4/9/‘ ’3 ) » %, ’7);/)7 % 4/5’ 07( /)7’3? Y5, % 9» '<l /7;)) /&//G 4/‘9/‘ 07( o)’% % » %, ’7);/)7 %
4/"’&4/ ‘l/ S @’0; o 87 O @e/’oe 4/"’&4/ ‘l/ K @’0; o 877 Os, oo Yoy 44 Sop o S Q6 S @s/’oo U Ay Yo, Yo, @’0; o 877 O @e/’oe
K } %, (077@@/,0@%(%@/00 o, Oy %, K ,\ (077@@/,0@%(%@/00 oy, Oy '?9 e’b,{ "Q"’ @f,o@f,o<‘% o0, O sﬂ/,\.@;;'?@g e”bf“‘ 7 (077 St 5%, o e 0% %,
“u “ Vg 855 0 %5 Oy Oy 9 0 P D/S‘ s 0@6‘ v Cor G 855 0 Oy Oy Vs 9 g g D/S‘ s 0@6‘ v sy Jfo s o s Vop oy /'79 % O/"O'O/@J//"?e%@f%@/ Goo 8% %0t g s Ot 9 0 g D/S‘ 76 0@6‘ v sy
e ey 0,
'qo ‘Z}O O&O 'qo ‘Z}O (}O
— i Aol s, — i) R s, YV VYYVYVYVVYYVY YV VYYVYVYVVYYVY Y YV Y YVYYYVYYYVY Y Y VY YVYYYVYYYVY
Active Level = Ox6E, 3, 0x01 <ebs <%, 9/;0 Active Level = Ox6E, 4, 0x01 <@ps o, Alarm Source = Analog Input Alarm State  |10X6D. 1. 0x0 Alarm Source = Analog Input Alarm State |12X6D. 2. 0x0 Alarm Source = Analog Input Alarm State  |12X6D. 3. 0x0 Alarm Source = Analog Input Alarm State |0X6D. 4. 0x0
Action Function = Ox6E, 3, 0x03 7 Action Function = Ox6E, 4, 0x03  "&/ ™ “& —» Alarm Source Instance = 1 0x6D. 1. 0x0 —» Alarm Source Instance = 1 0x6D. 2. 0XO0. —» Alarm Source Instance = 1 0x6D. 3. 00 —» Alarm Source Instance = 1 0x6D. 4. 0x0
Function Instance = Ox6E, 3, 0x04 ¢ ¢ ¢ Function Instance = Ox6E, 4, 0x04 ¢ ¢ ¢ Control Loop = 1 Alarm Latched 4'L¥ Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched %
Alarm Function - Overview Alarm Silenced -2X60. 1. 0x08, Alarm Function - Overview Alarm Silenced -2X6D.2. 0x05, Alarm Function - Overview Alarm Silenced -2X60.3. 0x08, Alarm Function - Overview Alarm Silenced -2X60. 4. 0x08,
—» EZKey —» EZKey Inst 1 Inst 2 Inst 3 Inst 4
. . . . nstance Alarm Clearable 0x6D, 1, 0x0 nstance Alarm Clearable 0x6D, 2, 0x0 nstance Alarm Clearable 0x6D, 3, 0x0 nstance Alarm Clearable 0x6D, 4, 0x0
Function Key - Overview Function Key - Overview 0x6D. 1. 0x1 0x6D. 2. Ox1 0x6D. 3. Ox1 0x6D. 4. 01
Instance 1 Instance 2 Alarm Working Process Value 43> Alarm Working Process Value —’—’—% Alarm Working Process Value —’—’—3> Alarm Working Process Value —3>
Event Status |-0X6E. 3. 0x0 Event Status |-0X6E. 4. 0x0 Alarm Working Set Point 0x6D, 1, 0x1 Alarm Working Set Point 0x6D, 2, 0x1 Alarm Working Set Point 0x6D, 3, 0x1 Alarm Working Set Point 0x6D, 4, 0x1
Input State Ox6A, 1, 0x0 Input State Ox6A, 2, 0x0 Output Value 0x6D, 1, Ox1 Output Value 0x6D, 2, Ox1 Output Value 0x6D, 3, 0x1 Output Value 0x6D, 4, 0x1
Not in 1/32 DIN Not in 1/32 or 1/16 DIN
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PMx[C,R,B,J,N,E][2,4]xx-[3,5][C,J]XX[A,D]xx

- . Output Function Instance = 0x6A, 2, 0x06
ESﬁ;ﬁi;"f%’;‘g%ﬁ 0%856' 1, 0x02 1 analog inputs Output Function = 0x6A, 1, 0x05 Output Type = 0x76, 1, 0x01 Range Low = 0x76, 1, 0x0B Output Control = 0x8A, 2, 0x02
Units = 0x86. 1 Ox1 D 2 DIO Output Function Instance = 0x6A, 1, 0x06 Output Function = 0x76, 1, 0x02 Range High = 0x76, 1, 0x0C Output Time Base = 0x6A, 2, 0x03
_ Input Point 1 _ bx86 1. 0x08 Output Control = 0x6A, 1, 0x02 Retransmit Source = 0x76, 1, 0x03 Output Low Power Scale = 0x76, 1 ,0x0D Output Low Power Scale = 0x6A, 2, 0x09
Sensor Type = OX_G& 1, 0x05 Output Point 1 = 0x86. 1. 0x12 2 control IOOpS Output Time Base = 0x6A, 1, 0x03 Output Function Instance = 0x76, 1, 0x04 Output High Power Scale = 0x76, 1, OxOE Output High Power Scale = 0x6A, 2, 0x0A
;%')-'Eeagz"f'gneé 0X6% 3, 0X00 Input Point 2 = 0x86. 1, 0x09 M Output Low Power Scale = 0x6A, 1, 0x09 Scale Low = 0x76, 1, 0x09 Offset = 0x76, 1, 0x07
ik fgxgs-’ 1,X0x'2A' X Output Point 2 = 0x86, 1, 0x13 4 outputs (Digital or Process) Output High Power Scale = 0x6A, 1, 0x0A Scale High = 0x76, 1, 0x0A
Scale Low = 0x68, 1, 0xOF Input Point 3 = 0x86, 1, 0x0A No enhanced firmware option
Scale High = 0x68, 1, 0x10 Output P_omt 3= 0x86, 1, 0x14 - p OQ((()(/{(O O(/f OO((O 0 O(//O(/(O
Range Low = 0x68, 1, 0x11 Input Point 4 = 0x86, 1, 0x0B CIP registers - red text X % R e
: o 0 int 4 = 0, o % Ros A T4, 0, o %
Range High = 0x68, 1, 0x12 utput Point 4 = 0x86, 1, 0x15 Yo 0, 79, 0,50, 4 0 Yo O, 70,
ge Hig " Inout Point 5 = 0x86. 1. Ox0C Q,, %, S 4 (NINGT hz % 4 Q,, 0, 5%
Process Error Enable = 0x68, 1, 0x1E nput Foint o = UXso, 1, Ux Py “r0,’ 0, %, o,«/(\&/,)/.’o,,/ 8 SR, '?O O, 011/ %y “r0,’ 0,
Process Error Low Value = 0x68, 1, 0x1F Output Point 5 = 0x86, 1, 0x16 Q. % & o '00/}0,70"}90 0@,09/6, % & 96& e Op. Q. M & o
Thermistor Curve = 0x68, 1, 0x26 Input Point 6 = _Ox86, 1, 0x0D /7%/ o Ve Oe/s N ’}0,7(”0 ’70 {9,5 oy, %05 Os/ Oe/ Se /7’}'0/ e OS'/@ OG/G
Resistance Range = 0x68, 1, 0x25 |0Utptulg P_Ol”; 6 % Oggﬁi 16 05<E17 Heat Algorithm = 0x6C, 1, 0x03 Fixed Power = 0x6B, 1, 0x0B
Filter = 0x68, 1, OxOE nput Foint /= UXa0, 1, UX Cool Algorithm = 0x6C, 1, 0x04 Open Loop Detect Enable = 0x6C, 1, 0x27
Input Error Latching = 0x68, 1, 0x1C Output Point 7 = 0x86, 1, 0x18 Cool Output Curve = 0x6C, 1, 0x26 Open Loop Detect Time = 0x6C, 1, 0x28 ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
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Action Function = (3x6E, 3, 0x03 7 Action Function = (3x6E, 4,0x03 & e OX6E. 1. 0x0 OX6E. 2. 0x0 —» Alarm Source Instance = 1 0x6D. 1. 0x0 —» Alarm Source Instance = 1 0x6D. 2. 0XO0. —» Alarm Source Instance = 1 0x6D. 3. 00 —» Alarm Source Instance = 1 0x6D. 4. 0x0
Function Instance = Ox6E, 3, 0x04 ¢ ¢ ¢ Function Instance = Ox6E, 4, 0x04 ¢ ¢ ¢ Event Status 45> 2 Event Status —1—5> Control Loop = 1 Alarm Latched 4'L¥ : Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched % :
Input State 264 2. 008, Input State  2X6A. 6. 008, Alarm Function - Overview Alarm Silenced 2X6D. 1. 0x05, Alarm Function - Overview Alarm Silenced -2X60. 2. 0x0§, Alarm Function - Overview Alarm Silenced 2X60. 3. 0x05, Alarm Function - Overview Alarm Silenced | 2X60. 4. 0x05,
—» EZKey —» EZKey Inst 1 Inst 2 Inst 3 Inst 4
Function Key Overview Function Key Overview Input Value Ox6A, 5, 0x0 Input Value Ox6A, 6, 0x0 nstance Alarm Clearable 0x6D, 1, 0x0 nstance Alarm Clearable 0x6D, 2, 0x0 nstance Alarm Clearable 0x6D, 3, 0x0 nstance Alarm Clearable 0x6D, 4, 0x0
Instance 1 Instance 2 Output Power Ox6A, 5, 0x0 Output Power Ox6A, 6, 0x0 Alarm Working Process Value 0x6D, 1, Ox1 Alarm Working Process Value 0x6D, 2, Ox1 Alarm Working Process Value 0x6D, 3, 0x1 Alarm Working Process Value 0x6D, 4, 0x1
Event Status |-0X6E. 3. 0x0 Event Status |-0X6E. 4. 0x0 Output Error M Output Error M Alarm Working Set Point 0x6D, 1, 0x1 Alarm Working Set Point 0x6D, 2, 0x1 Alarm Working Set Point 0x6D, 3, 0x1 Alarm Working Set Point 0x6D, 4, 0x1
Input State Ox6A, 1, 0x0 Input State Ox6A, 2, 0x0 Output State M} Output State M Output Value 0x6D, 1, 0x1 Output Value 0x6D, 2, 0x1 Output Value 0x6D, 3, 0x1 Output Value 0x6D, 4, Ox1
B5, D5 if ) B5, D6 if
Not in 1/32 DIN Not in 1/32 or 1/16 DIN DIO Options ‘2’, ‘4’ direction DIO Options ‘2’, ‘4’ direction
is output is output
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PMx[C,R,B,J,N,E][2,4]xx-[3,5][C,J]xX[C,F]xx
2 analog inputs

2 DIO

2 control loops

4 outputs (Digital or Process)

Enhanced firmware option - (Compressor control, cascade if two

Source Function A = 0x86, 1, 0x01
Source Instance A= 0x86, 1, 0x02
Function = 0x86, 1, 0x05

Units = 0x86, 1, 0x1D

Input Point 1 = 0x86, 1, 0x08
Output Point 1 = 0x86, 1, 0x12
Input Point 2 = 0x86, 1, 0x09
Output Point 2 = 0x86, 1, 0x13
Input Point 3 = 0x86, 1, 0x0A

Output Function = 0x6A, 2, 0x05

Output Function Instance = 0x6A, 2, 0x06
Output Control = 0x6A, 2, 0x02

Output Time Base = 0x6A, 2, 0x03
Output Low Power Scale = 0x6A, 2, 0x09
Output High Power Scale = 0x6A, 2, 0x0A

Output Function = 0x6A, 1, 0x05

Output Function Instance = 0x6A, 1, 0x06
Output Control = 0x6A, 1, 0x02

Output Time Base = 0x6A, 1, 0x03
Output Low Power Scale = 0x6A, 1, 0x09
Output High Power Scale = 0x6A, 1, 0x0A

Output Type = 0x76, 1, 0x01
Output Function = 0x76, 1, 0x02 Range High = 0x76, 1, 0x0C

Retransmit Source = 0x76, 1, 0x03 Output Low Power Scale = 0x76, 1 ,0x0D
Output Function Instance = 0x76, 1, 0x04 Output High Power Scale = 0x76, 1, 0xOE
Scale Low = 0x76, 1, 0x09 Offset = 0x76, 1, 0x07

Scale High = 0x76, 1, 0x0A

Range Low = 0x76, 1, 0x0B

Sensor Type = 0x68, 1, 0x05
TC Linearization = 0x68, 1, 0x06
RTD Leads = 0x68, 1, 0x07
Units = 0x68, 1, 0x2A

Scale Low = 0x68, 1, OxOF

Scale High = 0x68, 1, 0x10 Output Point 3 = 0x86, 1, 0x14 S . . L . % % % %%

Range Low = 0x68, 1, 0x11 Input Point 4 = 0x86, 1, 0x0B loops, ratio if two inputs, differential if two inputs, square root, Sy, PN %"o %, Sagy,

Range High = 0x68, 1, 0x12 Output P_omt 4 = 0x86, 1, 0x15 . o (/(O Oy, {g/} O(//G/}e (//;O ) h/ //} o (/(O Oy, {9/?

Process Error Enable = 0x68, 1, 0x1E Input Point 5 = 0x86, 1, 0x0C motorized Valve) “, 0/7;‘@0@@011/ OO/D"/,Z&O) RN S, "P e 0, 011/ “, ‘//7;"00@'%[1/
Process Error Low Value = 0x68, 1, 0x1F Output Point 5 = 0x86, 1, 0x16 CIP registers - red text Q7% ONe 0‘”}("7:.“90 //7*5‘1‘06/@ % ’$’ 09@,5, s o fO/; 08 S
Thermistor Curve = 0x68, 1, 0x26 Input Point 6 = 0x86, 1, 0x0D %'0/ Ve Vo i /0/7%‘ 00 <9/$ % 0% 0‘9/ % Sor %oy Vo6 o s
Resistance Range = 0x68, 1, 0x25 Output Point 6 = 0x86, 1, 0x17

Heat Algorithm = 0x6C, 1, 0x03
Cool Algorithm = 0x6C, 1, 0x04
Cool Output Curve = 0x6C, 1, 0x26

Fixed Power = 0x6B, 1, 0x0B
Open Loop Detect Enable = 0x6C, 1, 0x27
Open Loop Detect Time = 0x6C, 1, 0x28

Input Point 7 = 0x86, 1, 0x0E

Filter = 0x68, 1, Ox0E !
Output Point 7 = 0x86, 1, 0x18

Input Error Latching = 0x68, 1, 0x1C

YYVY YYVYYVYYYYVYVY YVYVy

Display Precision = 0x68, 1, 0x14 Input Poin? 8= _Ox86, 1, OxXOF Heat Proportional Band = 0x6C, 1, 0x09 Open Loop Detect Deviation = 0x6C, 1, 0x29 .| Output Function = Heat Power —> Output Function = Heat Output Function = Alarm
ibrati - Output Point 8 = 0x86, 1, 0x19 i = ion = » . . —> .
Calibration Offset = 0x68, 1, 0x0C ) ° : Heat Hysteresis = 0x6C, 1, Ox0A Ramp Action = 0x6B, 1, Ox0E Output Function Instance = 1 Output Function Instance = 1 Output Function Instance = 1
Clear Latch Request = 0x68, 1, 0x1D Input Point 9 = 0x86, 1, 0x10 Source Function A = 0x7E, 1, 0x01 Cool Proportional Band = 0x6C, 1, 0x0C Ramp Scale = 0x6B, 1, 0xOF o _ _ o _
|OUtptuFt> P'Oln1t (? = é) ng ’ 11 ’c? x111A Source Instance A = 0x7E, 1, 0x06 Cool Hysteresis = 0x6C, 1, 0x0D Ramp Rate = 0x6B, 1, 0x11 Output Digital Function - Output Process Function Output Digital Function -
Output Point 10 = 0x86, 1, 0x1B Source Function B = 0x7E, 1, 0x02 pme Itr;te'g rat|_= 0xgcég, i hqmssettim'mtz pawes 11' ‘Ox0 Overview 0x6A, 1, 0x0 - Overview 0x76, 1, 0x12 Overview 0X6A, 2, 0x05
A, _ Y Source Instance B = 0x7E, 1, 0x07 ime Derivative = Ux6C, 1, OX Igh Set Point = 0xoB, 1, Ox Instance 1 X6A, 1, Ox D’ Instance 1 x76, 1, 0x Instance 2 XOA, 2, OX
Aofooe 4, % Offset = 0x86, 1, 0x06 Function = OX7E, 1, 0x15 Dead Band = 0x6C, 1, 0x08 Closed-Loop Set Point = 0x68B, 1, 0x01 Source Value Source Value —————» Source Value
70 N *?4;, M, 5, S, o B 4.9, Pressure Units = 0X7E, 1, 0x1C TRU-TUNE+ Enable = 0x6C, 1, 0x16  Idle Set Point = 0x6B, 1, 0x09 Source Error |-2X0A. 1. 0x0F, Electrical Output Offset |2X76. 1. 0x0 Source Error |- 2X0A. 2. 0x0F,
NS ’s "o O 7y e,b %, Y Altitude Units = 0x7E, 1, 0x1D TRU-TUNE+ Band = 0x6C, 1, 0x22 Set Point Open Limit Low = 0x6B, 1, 0x05 0x6A, 1, 0x0 . 0x76, 1, 0x0 0x6A, 2, 0x0§
@’7&0:)@9,272) ‘ @ofce,;’) '? 9 ’0» <o Sy » e A, 2 * > ’5@ o “ O:.” A, Barometric Pressure = OX7E, 1, 0x1E TRU-TUNE+ Gain = 0x6C, 1, 0x23 Set Point Open Limit High = 0x6B, 1, 0x06 Input State -2X0A. 1. 0O, Electrical Output Slope - 2X/0.1.0x06, Input State
7} %, S % /;,, { ’20 Oeé/ s/o (”L s //, 6/,7 ‘9’0 /}3@9’(/@& D, Zf,f’k, o Filter = OX7E, 1, Ox1A Autotune Set Point = 0x6C, 1, 0x19 Open Loop Set Point = 0x6B, 1, 0x02 Output Power Ox6A, 1, 0x0 Analog Out Control Operation 0x76, 1, Ox11, Output Power 0x6A, 2, 0x0§
©e " % " e s %, /;,/ 7 07 ’2’9@ Offset = Ox7E, 1, 0x17 Autotune Aggressiveness = 0x6C, 1, 0x18 Control Mode = 0x6C, 1, 0x01 O0x6A. 1. 007 0x76. 1. 01 0x6A. 2. 0x07
K 0 0% Peltier Delay = 0x6C, 1, 0x33 Autotune = 0x6C, 1, Ox1A Output Value | 2X0A, 1, OXUhy, Output Value 4(& Output Value | OX0A, 2, OXUly,
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ @e,o User Failure Action = 0x6B, 1, 0x0C Loop Error Clear Request = 0x6C, 1, 0x31 ' T W1, X1, Y1, or . F1, H1, G1 ' T W2, Y2 or
R1, % Analog Input Analog Input Value (Unfiltered) 0x68, 1, Ox01} A’e ’7//).7@&‘ Input Error Failure = 0x6B, 1, 0x0D Time Prgporttlo‘m‘ngl Qu‘tput J1, K1, L1 Process Output Option ‘F’ Time Eropgn!opqu Qu‘tp‘ut K2, L2
0x68, 1, 0x16 255, %, Options 'C’, 'E’, K Options ‘C', H'. *J", 'K
Analog Input Filtered Value 2229 L. »> ’e(/oé(/’ A0
i i 0x68, 1, 0x02 %0 iy 2% R ’//s s 0o, % 8, S ¢
Analog Input Function - Overview Input Error  |-2X08. 1. X > Linearization Function ” S ¢ A oo N ‘70,0/ Ry P8, On 4, o s %,
- S, 0
Instance 1 RTD Lead Resistance —‘—’—}OXGS 1. 0x03 ! Izovlervie\l,]v I ¢ ¢ ¢ ¢ ¢ ¢ A, OO e;',o N ’3’ 7‘ ,?(/‘;;?(/ }'?4(/’;:?@'7 /?@/bo@é‘{s‘ . A/?'o‘/ <O%Z)< 30 % 2?0, O/o g/o % %Of
. 0x68, 1, 0x04 %20y Or, o O /7 O 25 P NN 7, S0n R 0% S %, " 0P 0, 0, £ W %or $og, %P, 8,
Ambient Temperature —————> Instance 1Output Value L0x86. 1, 0x07 f‘?@g’?@o{b{,, s, /6]/@; "y J/@Z) /,”Os%o @6\" @/v@x@l’é‘@@ef @/I,G/G/*GS DO//,/ 630/‘ q'@o' RCING é\@eofosj/%j’% @@f @sfgs/ ,S? /’g/);/ </’77/,,/«)&/ 4(/,« '?
Electrical Input Offset 2X68. 1. 0x0 7, i,y S, Gy i 9, 90,05, o, 55, G0, D % ; % Oz} 7, 0,1/ ’7% %, Yoy o > 205005 0 ot Y %, %
P Output Error |-9x86. 1, 0x1C ® » Dy Ve oSG ’70' % Yo o % oy T SSs Y % Y% 6 "0n "0ry "y ' Ve Vg Vg Vg0, 708 0% g S
Electrical Input Slope [ 2X68. 1. 0x0By, 0x86. 1. 0x04 PV Function - Overview
—1_:—>
Eloctical Measurement 0168, 1.0X15, Source Value A instance 1 YV Y VY VY VY VY VY YV YV YV YV Y VYV YV YV Y YV YV Yy
Output Value Ox7E, 1, 0x16 ' g Heat Power Ox6C, 1, 0x0B
Output Error Ox7E, 1, 0x1C ' g Control F ti 0 . Cool Power 4“60, 1, 0x0
s Value A OXx7E. 1. Ox1 ontrol Function - Overview b ] 0x6C, 1, 0x21
ource Value A [X7E. 1.0x1Gy, Instance 1 owe
Source Value B (2X/E-1.0x11,, Closed-Loop Set Point - 2X68. 1. 0x07,
» Open Loop Set Point 0x6B, 1, 0x0
> Autotune Status 0x6C, 1, 0x1
Open Loop Error %OXGC, 1, 0x3
Control Active Mode 0x6C, 1, 0x0
Bumpless Set Point 0x6B, 1, 0x0
Ramp Set Point (Produced) 0x6B, 1, 0x1
Ramp Set Point (Target) 0x6B, 1, 0x1
Idle Set Point [ 2X6B. 1. 0x15,
Source Function A = 0x86, 2, 0x01
pource Instance A= 9x86, 2, 0x02 Output Function = 0x6A, 3, 0x05 Output Type = 0x76, 3, 0x0" Range Low = 0x76, 3, 0x0B Output Function = 0x6A, 4, 0x05
Units = 0x86. 2 Ox1 D Output Function Instance = 0x6A, 3, 0x06 Output Function = 0x76, 3, 0x02 Range High = 0x76, 3, 0x0C Output Function Instance = 0x6A, 4, 0x06
Input Point 1 - bx86 2 0x08 Output Control = 0x6A, 3, 0x02 Retransmit Source = 0x76, 3, 0x03 Output Low Power Scale = 0x76, 3, 0xOD  Output Control = 0x6A, 4, 0x02
Sensor Type = 0x68, 2, 0x05 Output Point 1 = OxéG ‘5 0x12 Output Time Base = 0x6A, 3, 0x03 Output Function Instance = 0x76, 3, 0x04 Output High Power Scale = 0x76, 3, 0xXOE ~ Output Time Base = 0x6A, 4, 0x03
TC Linearization = 0x68, 2, 0x06 Input Point 2 = 0x86 2 6x09 Output Low Power Scale = 0x6A, 3, 0x09 Scale Low = 0x76, 3, 0x09 Offset = 0x76, 3, 0x07 Output Low Power Scale = 0x6A, 4, 0x09
RTD Leads = 0x68, 2, 0x07 Output Point 2 = OxéG ’2 0x13 Output High Power Scale = 0x6A, 3, 0x0A Scale High = 0x76, 3, 0x0A Output High Power Scale = 0x6A, 4, 0x0A
Units = 0x68, 2, 0x2A Input Point 3 = 0x86, 2, 0x0A
Scale Low = 0x68, 2, 0xOF Output Point 3 = 0x86, 2, 0x14 9,9, 0, 0,9, 0, o/
Scale High = 0x68, 2, 0x10 Input Point 4 = 0x86, 2, 0x0B %, 20 429(,{ ’bo,« » f{,/ »
Range Low = 0x68, 2, Ox11 Output Point 4 = 0x86, 2, 0x15 02440, %, 0., @/x 05, 0% %o 46}94
Range High = 0x68, 2, 0x12 Input Point 5 = 0x86, 2, 0x0C NS ) 0, %, %, %, S "P z? NESN NS )
Process Error Enable = 0x68, 2, Ox1E Output Point 5 = 0x86, 2, 0x16 (//O //;)@ ‘Iz@, h’@, (/{'O(/ /,(2/07/;8’)/0 @OQ/ O'S' /;0 e, hzsf (//O 7 @h,@" h’@,
Process Error Low Value = 0x68, 2, Ox1F Input Point 6 = 0x86, 2, 0x0D 0/72}- N 6‘03 % /)j/ ’70/. O(/,‘S'/O ® ,s; @,39 Cs, S O/;& %% @e 0y,
Thermistor Curve = 0x68, 2, 0x26 Output Point 6 = 0x86, 2, 0x17 o S % Y% % " e " °11/ % "% Ve “or o e Y% Y%

Heat Algorithm = 0x6C, 2, 0x03
Cool Algorithm = 0x6C, 2, 0x04
Cool Output Curve = 0x6C, 2, 0x26

Fixed Power = 0x6B, 2, 0x0B
Open Loop Detect Enable = 0x6C, 2, 0x27
Open Loop Detect Time = 0x6C, 2, 0x28

Resistance Range = 0x68, 2, 0x25

) Input Point 7 = 0x86, 2, Ox0E
Filter = 0x68, 2, 0x0E

Output Point 7 = 0x86, 2, 0x18

YVYVY YYVYYYYYYVVY

Input Error Latching = 0x68, 2, 0x1C i = ) L
Dirs)play Precision =90x68, 2, 0x14 Igtht Ft)?:m 8t 8 _0)6%(%62,20%0;9 Heat Proportional Band = 0x6C, 2, 0x09 ~ Open Loop Detect Deviation = 0x6C, 2, 0x29 + | Output Function = Heat Power — | Output Function = Off Output Function = Off
Calibration Offset = 0x68. 2. 0x0C utput FoInt € = ) Heat Hysteresis = 0x6C, 2, 0x0A Ramp Action = 0x6B, 2, 0xOE ™ Output Function Instance = 2 Output Function Instance = 1 ) Output Function Instance = 1
Clear Latch Request = 0x68, 2, 0x1D Input Point 9 = 0x86, 2, 0x10 Source Function A = 0x7E, 2, 0x01 Cool Proportional Band = 0x6C, 2, 0x0C ~ Ramp Scale = 0x6B, 2, 0xOF o _ _ o _
o IOUtPtUFt)'?Ol”;(?_- SX§§’§’§X111A Source Instance A = 0x7E. 2. 0x06 Cool Hysteresis = 0x6C, 2, 0x0D Ramp Rate = 0x6B, 2, 0x11 Output Digital Function - Output Process Function Output Digital Function -
gﬁtuput%lgint 10 = 0x86. 2 Ox1B Source Function B = 0x7E, 2, 0x02 pme g\te_gral_ = O—chég’ (2>X8607 h?“ésset F,;O'-nt i%X%% 22 %X%?; Overview - Overview Overview
,olo’o Qutput Point 10 = 0x86, 2, Source Instance B = 0x7E, 2, 0x07 Dlm% Berl\éayv(;e = x2 12 X C:g delt_ omé— F2< B, 2, )ESB ) o0 Instance 3 Source Value |-0XBA. 3. 0x0 Instance 3 Source Value [0X76.3, 0x12y Instance 4 Source Value 2X6A. 4. 0x0
00555 o 2y R 7P %, o Function = Ox7E, 2, 0x15 RUTUNE+ Enable = Ox O S ot oD, 2, Ox 0x6A. 3, 0XOF, 0x76. 3, 0x0 0x6A, 4, 0XOF,
%o C‘e ‘?6), S 0’6\ 09/69’( 4.9, Pressure Units = Ox7E, 2, 0x1C ¥EB-$H“E+ Enazle ; OGXéSCZ, 26 02x216 Isdle I§et Pgnt = Ex6B,L2, OXO(? 68,2 00 Source Error —————=—"» Electrical Output Offset Ox76. 3. 0x05,, Source Error —————""»
¢, Y /} s, g Syt %, Y ; e = - + Band = 0x6C, 2, 0x et Point Open Limit Low = 0x6B, 2, 0x05 .
G@%;f@s,:%( Soe@ce,;? '? 9 'Or R e’bsoos/? . Q} e Og@ N “ o;/f’Qo, ggfgﬁztﬁg'Sres(;ﬁZeEfé)?;éPz, 0X1E TRU-TUNE+ Gain = 0x6C, 2, 0x23 Set Point Ogen Limit High = 0x6B, 2, 0x06 Input State -9X6A. 3. 0x0F Electrical Output Slope |-2X76. 3. 0x06 Input State |-0X6A. 4. 00
ST %0 /;,, A ’3}0 /’%/ %o (//7, N //, ’5//, 6‘/0 ’53\&90@& %, Zfzf/)f; o Filter = OX7E, 2, Ox1A Autotune Set Point = 0x6C, 2, 0x19 Open Loop Set Point = 0x6B, 2, 0x02 Output Power |9X6A. 3. 0x0§, Analog Out Control Operation -2X/6.3. 0x11y, Output Power |0X6A. 4. 0x0§
©e " % " ¢ %, /;,/ 7 07 ’f&e Offset = Ox7E, 2, 0x17 Autotune Aggressiveness = 0x6C, 2, 0x18 Control Mode = 0x6C, 2, 0x01 OX6A. 3. OXO7. 0x76. 3. OX1 OXBA. 4. 0X07
K 0 0% Peltier Delay = 0x6C, 2, 0x33 Autotune = 0x6C, 2, Ox1A Output Value ———=——p Output Value 4()» Output Value —————p
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ Ge,o User Failure Action = 0x6B, 2, 0x0C Loop Error Clear Request = 0x6C, 2, 0x31 W3, X3, Y3, or F3, H3, G3 W4, Y4 or
R2,82,72 , ) 0x68,2,0x01 A, e Input Error Failure = 0x6B, 2, 0x0D Not in 1/32 DIN J3, K3, L3 Not in 1/32 DIN Not in 1/32 DIN K4, L4
Analog Input Analog Input Value (Unfiitered) = /(?\9\94/1},2//’/0,0 Time Proportioning Output Process Output Option ‘F’ Time Proportioning Output
Analog Input Filtered Value |-0X68.2.0x16 o 2 ‘; % [T O Options ‘C’, E’, ‘K’ Options ‘C', ‘H', ', 'K’
i i 0x68, 2, 0x02 RNTARA //e S o, L S 4
Analog Input Function - Overview Input Error H2X00. 2, UX > _ . . K e ¢ % oo e, Ry 08, Qp ¢ o) “9@/ RS RN Source Function A= 0x87, 1, 0x01 Power On Level 2 = 0x87, 1, 0x14
Instance 2 Linearization Function - o %, 5 %, 27 (P, 5% 0s. 0,0 &, o b o b
RTD Lead Resistance -2X68.2.0x03,, i oy, % Ry, 7 Y e R 0% S, 7 %, Lo ° o, X o o) Source Instance A= 0x87, 1, 0x03  Power Off Level 2 = 0x87, 1, 0x15
Overview 4 ol 0 'Sf /\ GRSy S S S8 k% 0% %, o 4% ‘0 % 70 : _ s =
. 0x68. 2. OxO4 8,0, O,/ /7 @e,« /7 %y e 4/ 72/ (RS ¥ 0, 8 e,/ é} S, Oe,«'oo N £ W, %0 o% /07 'Oe Sy Co, /@ Source Function B = 0x87, 1, 0x02 Minimum On Time = 0x87, 1, 0x16
Ambient Temperature |22y Instance 1Output Value |_0x86.2.0:0%, _ f'q(o/'q{g (K /;Q/'sj,&; Ns J,S;b 4 O%O eé\"@/v@x 4’6‘8‘9@,«@ ‘9/1//@»@@ ’°o,/) @4’0,. Yoo @o,é\@zéo’osjf% ‘9/% @@f Sof &s, @s/(o) (,,)7/;?&/ 4(// "R Source Instance B = 0x87, 1, 0x04 Minimum Off Time = 0x87, 1, 0x17
. 0x68, 2 OXOA = RS s SN s [ONENEA % oy cx 9, "0, /79 S oy, o R IRA AR 7% o559, Function = 0x87, 1, 0x09 Valve Travel Time = 0x87, 1, 0x18
Electrical Input Offset Output Error 0x86,2.0x1C ® > . ' 6,,7 /),77 "o 9/; o ‘9/70, %0» &p 6/70, (Y 9/70, Uy Vg S5 By Yo J/ IR 7 N /); Oy, 0y, " Vs Yoy Yoy Uiop s 0y, %% o "/7 Sy Power On Level 1 = 0x87, 1, 0x12 Dead Band = 0x87, 1, 0x19
Electrical Input Slope |- 2X68. 2. 0x0 S Valuo A |_0x86.2,0x04 PV Function - Overview ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ Power Off Level 1 = 0x87, 1, 0x13  Time Delay = 0x87, 1, Ox1A
ource ValueA ————=—"">» Inst 2
Electrical Measurement -2X68. 2. 0x15y, netance oA o sl L
Not in 1/32 or 1/16 DIN 0x7E,2,0x16 0x6C,2,0x0B Oy, Ou, 0,0y "y, 7y, Yoy,
Not in 1/32 or 1/16 DIN 2nd Loop Option Output Value B Heat Power ,?O&Ol;&g@fo%”?%”?be’\fe Q. 7
2nd Loop Option Output Error | —OX7E.2.0x1C__ Control Functi 0 . Cool Power —9X6C.2.0x0 0/;(;7_(@0 IA ”( )5(( boo /\oﬁf/\{’@/ﬁo’@ © 3
Source Function A = 0x7D, 1, 0x01 Source Value A |_0X7E.2,0x1 ontrol Function - Uverview Power |_0X6C.2,0x21 o 56 5 S e g g ey
Source Instance A= 0x7D, 1, 0x06 OX7E.2 Ox11 Instance 2 OX6B.2.0x07
Source Function B = 0x7D, 1, 0x02 Source Value B ———=—">» Closed-Loop Set Point ———=—"—"—> ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Source Instance B = 0x7D, 1, 0x07 | 0 L Set Poi Ox68,2,0x0§’
Source Function E = 0x7D, 1, 0x05 ~ pen Loop Set Point Source Function A = none s 0x87, 1, 0x07,
_ 0x6C.2.0x1 —> ource ValueA ——————>»
Source Instance E = 0x7D, 1, 0x0A » Autotune Status A Source Instance A = 1 0x87. 1. 0x0
Function = 0x7D, 1, 0x15 0x6C.2 Ox3g Source Value B 48>
Scale Low = 0x7D, 1, 0x18 Not in 1/32 or 1/16 DIN Open Loop Error = »| Source Function B = none Output Value 1 0x87. 1, 0x0A,
Scale High = 0x7D, 1, 0x19 2nd Loop Option Control Active Mode |—2x6€.2.0x03, Source Instance B = 1 0x87 1. 0x0
Range Low = 0x7D, 1, Ox1A OX6B.2.0x0 . . Output Error 1 X4XB>
Range High = 0x7D, 1, 0x1B Bumpless Set Point —2X68.2.0x04, Special Output Function - 0x87 1 0%0
ilter = H Output Value 2 —'—'—Cb
g#:;t =O())(>ZI7DD 11' 0())()1107 S S, B, '? Ramp Set Point (Produced) —2X6B.2.0x1 Overview P
1 % 0. 20, 0x87, 1, 0x0
Units = 0x7D. 1. 0x20 % 0‘9/@ 0&9@ o4, & ) 0x6B.2 0x1 Instance 1 Output Error 2
nits = 0x7D, 1, Ox % {O@ s <°h/ % ’/fs ‘5‘@,« » Ramp Set Point (Target) 4‘& :
. Idle Set Point | —2x6B.2,0x13, Not in 1/32 or 1/16 DIN
¢ ¢ ¢ ¢ ¢ ¢ ¢ - Enhanced Firmware Option
_ Not in 1/32 or 1/16 DIN
; Source Function A = Power 2nd Loop Option Alarm Type = 0x6D, 1, 0xOF Alarm Type = 0x6D, 2, 0xOF Alarm Type = 0x6D, 3, 0x0F Alarm Type = 0x6D, 4, 0xOF
Source Instance A= 1 Alarm Source = 0x6D, 1, 0x11 Alarm Source = 0x6D, 2, 0x11 Alarm Source = 0x6D, 3, 0x11 Alarm Source = 0x6D, 4, 0x11
. : Alarm Source Instance = 0x6D, 1, 0x12 Alarm Source Instance = 0x6D, 2, 0x12 Alarm Source Instance = 0x6D, 3, 0x12 Alarm Source Instance = 0x6D, 4, 0x12
Source Function B = Closed Loop Set Point v T r o
—> Source Instance B = 1 Source Value A 0x7D, 1, 0X1g Digital I/O Direction = 0x6A, 5, 0x01 Digital I/O Direction = 0x6A, 6, 0x01 Control Loop = QXGD, 1, 0x17 Control Loop = QXGD, 2, 0x17 Control Loop = _OX6D, 3, 0x17 Control Loop = _0x6D, 4, 0x17
. Output Function = 0x6A , 5, 0x05 Output Function = 0x6A , 6, 0x05 Alarm Hysteresis = 0x6D, 1, 0x03 Alarm Hysteresis = 0x6D, 2, 0x03 Alarm Hysteresis = 0x6D, 3, 0x03 Alarm Hysteresis = 0x6D, 4, 0x03
» Source Function E = None Source Value B FX7D. 1, 0x11y Output Function Instance = 0x6A , 5, 0x06 Output Function Instance = 0x6A , 6, 0x06 Alarm Logic = 0x6D, 1, 0x05 Alarm Logic = 0x6D, 2, 0x05 Alarm Logic = 0x6D, 3, 0x05 Alarm Logic = 0x6D, 4, 0x05
Source Instance E = 1 0x7D. 1. Ox1 Output Control = 0x6A , 5, 0x02 Output Control = 0x6A , 6, 0x02 Alarm Sides = 0x6D, 1, 0x04 Alarm Sides = 0x6D, 2, 0x04 Alarm Sides = 0x6D, 3, 0x04 Alarm Sides = 0x6D, 4, 0x04
Source Value E 4A> Output Time Base = 0x6A , 5, 0x03 Output Time Base = 0x6A , 6, 0x03 Alarm Low Set Point = 0x6D, 1, 0x02 Alarm Low Set Point = 0x6D, 2, 0x02 Alarm Low Set Point = 0x6D, 3, 0x02 Alarm Low Set Point = 0x6D, 4, 0x02
Math Function - Overview Output Value 0x7D, 1, 0x16 Output Low Power Scale = 0x6A , 5, 0x09 Output Low Power Scale = 0x6A , 6, 0x09 Alarm High Set Point = 0x6D, 1, 0x01 Alarm High Set Point = 0x6D, 2, 0x01 Alarm High Set Point = 0x6D, 3, 0x01 Alarm High Set Point = 0x6D, 4, 0x01
Instance 1 Output High Power Scale = 0x6A , 5, 0x0A Output High Power Scale = 0x6A , 6, 0x0A Alarm Latching = 0x6D, 1, 0x07 Alarm Latching = 0x6D, 2, 0x07 Alarm Latching = 0x6D, 3, 0x07 Alarm Latching = 0x6D, 4, 0x07
Output Error 2X7D. 1, 0x1D Active Level = 0X6E . 1, 0x01 Active Level = OX6E . 2, 0x01 Alarm Blocking = 0x6D, 1, 0x08 Alarm Blocking = 0x6D, 2, 0x08 Alarm Blocking = 0x6D, 3, 0x08 Alarm Blocking = 0x6D, 4, 0x08
Action Function = 0x6E , 1, 0x03 Action Function = 0x6E , 2, 0x03 Alarm Silencing = 0x6D, 1, 0x06 Alarm Silencing = 0x6D, 2, 0x06 Alarm Silencing = 0x6D, 3, 0x06 Alarm Silencing = 0x6D, 4, 0x06
Not in 1/32 or 1/16 DIN Function Instance = 0x6E , 1, 0x04 Function Instance = 0x6E , 2, 0x04 Alarm Display = 0x6D, 1, 0x10 Alarm Display = 0x6D, 2, 0x10 Alarm Display = 0x6D, 3, 0x10 Alarm Display = 0x6D, 4, 0x10
Enhanced Firmware Option Alarm Delay Time = 0x6D, 1, 0x15 Alarm Delay Time = 0x6D, 2, 0x15 Alarm Delay Time = 0x6D, 3, 0x15 Alarm Delay Time = 0x6D, 4, 0x15
p
o o Alarm Clear Request = 0x6D, 1, 0x0D Alarm Clear Request = 0x6D, 2, 0x0D Alarm Clear Request = 0x6D, 3, 0x0D Alarm Clear Request = 0x6D, 4, 0x0D
O(/,«(/ O(% (//0 O(/,«(/ O(% 0/0 Alarm Silence Request = 0x6D, 1, Ox0E Alarm Silence Request = 0x6D, 2, OxOE Alarm Silence Request = 0x6D, 3, OxOE Alarm Silence Request = 0x6D, 4, Ox0E
1, O, . L0y % Y 1, O, . L0y % Y
v, (// o/ O (/ % '96 P 401« . v, (// o/ O (/ % '96 PS 4O/~ .
0 L //) o % 0y, Oh,'qC'/;L/O’) 2 by 0 L //) o % Oy, Oh,'qO/;L/O’) A2 by U 4/4/ 1, AU Y 4/4/ 1y, U Y 4/4/%}) %, % 4/4/ ,
/,GO.,,OO@, 070 60 (S Py /»GO.,,OO@, 00 & s Ly, %, 2 ’,y Yo 2, U, NS ’,y Yo 2, %, %,’o;& 7 &Sy %, My, 4, Yo 2,
1}/) %, 9/70 ’72}-0/ SSe o U GP@/&O s 1}/) %, 9/70 ’72}-0/ SSe o U @bs/?}o e D Ay A, %o e,. r ’<// /);O o /70 ¢ A A %o e, r ’<// /);O A /70 & %o 9,. %, 9» '<l /7; Cp %, " 4 4< %o e, r ’<// /);O A ’70
'7/9&/ //. @ @’77<’))@@/77 S G '7/9&/ //. @ @’77<’))@@/77 b @ /6’6} /Q @ ’77<’)7 /;) < Lo '7/9 /Sj//e,//. @ @’77 ’))@@/77 N G
o;, ’77@/@/‘9//0/0‘9 /77@/@1“9//0/09 " ’7)/77@/@2‘9//08 By B, A ’o;s /77@/@/‘9//0/09
SEERRRREE, SEERRRREE, B S o R
0 <%0 B5, D5 if B5, D6 if Yoo 8% %0t g g s g 0 "%y, ”) 5’8 Sor o 0% 0% g g O g e g%y, ”) 5’8 Sor D 9/ s op oy ”9 % ”9 S e "S5y Sy o 0% 0% g g O g e g%y, ”) 5’8 Sor
Cp " cy, Cp " cy, direction —» Digital Input Value direction —3 Digital Input Value
g 2 s input - - s input - - YYYYVYYVYVYYVYYYY ¢¢¢¢¢¢¢¢¢¢¢¢¢ ¢¢¢¢¢¢¢¢¢¢¢¢¢ YYYYVYYVYVYYVYYYY
. _ R P : - "y Dy DIO Function - Overview DIO Function - Overview
Active Level = 0x6E, 3, 0x01 o, e Active Level = 0x6E, 4, 0x01  “<Lg "oy Instance 5 Alarm Source = Analog Input Alarm State |2X6D. 1, 0x0g, Alarm Source = Analog Input Alarm State |0X6D. 2, 0x0g, Alarm Source = Analog Input Alarm State |2X6D. 3. 0x09, Alarm State |0X6D. 4, 0x0G,

&/ Alarm Source = Analog Input
Action Function = OX6E, 3, 0x03 & 0 Action Function = OX6E, 4, 0x03 &/ O s Instance 6 9np

—» Alarm Source Instance = 1 —» Alarm Source Instance = 1 —» Alarm Source Instance = 1 —» Alarm Source Instance = 1
Function Instance = 0x6E, 3, 0x04 ¢ ¢ ¢ Function Instance = 0x6E, 4, 0x04 ¢ ¢ ¢ Event Status -2X6E. 1. 0x0 Event Status [ 9X6E. 2. 0x0 Control Loop = 1 Alarm Latched -2x6D.1.0x0 Control Loop = 1 Alarm Latched -2X60.2. 0x0 Control Loop = 1 Alarm Latched -2x6D.3. 0x0 Control Loop = 1 Alarm Latched -2x6D. 4. 0x0
3 Ezk SN == Input State |-2X6A. 5. 0x0B, Input State |-2X6A. 6. 0x0B, Alarm Function - Overview Alarm Silenced -2X6D. 1. 0x08, Alarm Function - Overview Alarm Silenced -2X6D. 2. 0x05, Alarm Function - Overview Alarm Silenced -2X6D.3. 0x05, Alarm Function - Overview Alarm Silenced -2X6D. 4. 0X0B,
ey ey Inst 1 Inst 2 Inst 3 Inst 4
Function Key Overview Function Key Overview Input Value Ox6A, 5, 0x0 Input Value Ox6A, 6, 0x0 nstance Alarm Clearable 0x6D, 1, 0x0 nstance Alarm Clearable 0x6D, 2, 0x0 nstance Alarm Clearable 0x6D, 3, 0x0 nstance Alarm Clearable 0x6D, 4, 0x0
Instance 1 Instance 2 Output Power Ox6A, 5, 0x0 Output Power Ox6A, 6, 0x0 Alarm Working Process Value 0x6D, 1, Ox1 Alarm Working Process Value 0x6D, 2, Ox1 Alarm Working Process Value 0x6D, 3, 0x1 Alarm Working Process Value 0x6D, 4, 0x1
Event Status |-0X6E. 3. 0x0 Event Status |-0X6E. 4. 0x0 Output Error M Output Error M Alarm Working Set Point 0x6D, 1, 0x1 Alarm Working Set Point 0x6D, 2, 0x1 Alarm Working Set Point 0x6D, 3, 0x1 Alarm Working Set Point 0x6D, 4, 0x1
Input State Ox6A, 1, 0x0 Input State Ox6A, 2, 0x0 Output State M} Output State M Output Value 0x6D, 1, 0x1 Output Value 0x6D, 2, 0x1 Output Value 0x6D, 3, 0x1 Output Value 0x6D, 4, Ox1
B5, D5 if B5, D6 if
Not in 1/32 DIN Not in 1/32 or 1/16 DIN DIO Options ‘2", ‘4’ direction DIO Options ‘2’, ‘4’ direction
is output is output
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Soures Fnton A= 05, 1 010 PMx[C,R,B,J,N,E][1,3]xx-[3,5][R,P]AA[C,F]xx Gutpu Funton =04, 2,005

- . Output Function Instance = 0x6A, 2, 0x06
ESﬁ;ﬁi;"f%’;‘g%ﬁ 0%856' 1, 0x02 2 analog inputs Output Function = 0x6A, 1, 0x05 Output Type = 0x76, 1, 0x01 Range Low = 0x76, 1, 0x0B Output Control = 0x8A, 2, 0x02
Units = 0x86. 1 Ox1 D 0 DIO Output Function Instance = 0x6A, 1, 0x06 Output Function = 0x76, 1, 0x02 Range High = 0x76, 1, 0x0C Output Time Base = 0x6A, 2, 0x03
_ Input Point 1 _ bx86 1. 0x08 Output Control = 0x6A, 1, 0x02 Retransmit Source = 0x76, 1, 0x03 Output Low Power Scale = 0x76, 1 ,0x0D Output Low Power Scale = 0x6A, 2, 0x09
Sensor Type = OX_G& 1, 0x05 Output Point 1 = 0x86. 1. 0x12 1 control IOOp Output Time Base = 0x6A, 1, 0x03 Output Function Instance = 0x76, 1, 0x04 Output High Power Scale = 0x76, 1, OxOE Output High Power Scale = 0x6A, 2, 0x0A
;%')-'Eeagz"f'gneé 0X6% 3, 0X00 Input Point 2 = 0x86. 1, 0x09 M Output Low Power Scale = 0x6A, 1, 0x09 Scale Low = 0x76, 1, 0x09 Offset = 0x76, 1, 0x07
ik fgxgs-’ 1,X0x'2A' X Output Point 2 = 0x86, 1, 0x13 4 outputs (Digital or Process) Output High Power Scale = 0x6A, 1, 0x0A Scale High = 0x76, 1, 0x0A
Scale Low = 068, 1, 0407 et s o o Enhanced firmware option - (Compressor control, cascade if 0,0, o 0,0, 0,0,
cale High = 0x68, 1, Ox o P e . . . g . (TN (7 (7Y (7).
Range Low = 0x68, 1, 0x11 Input Point 4 = 0x86, 1, 0x0B two loops, ratio if two inputs, differential if two inputs, square Sy, PN "o/’o ‘s, Sy,
Range High = 0x68, 1, 0x12 Output Point 4 = 0x86, 1, 0x15 . o (/(O oy, {9/} O(/ G/;.e &, h/ //} o (/(O [ {9/}
e = Input Point 5 = 0x86, 1, 0xOC root, motorized valve) 2 R ¥ 570 45 0%, s s, NG 2R BB 2
Process Error Enable = 0x68, 1, Ox1E ; ’ O < 7 Oy, Oy, U U % 8 S /‘P th 011/ O 2, 0y, 0y,
- Output Point 5= 0x86, 1, 0x16 . NN O L0708 D, Cop e ’79 o AN
Process Error Low Value = 0x68, 1, Ox1F ) > CIP reglsters _ red teXt O, 0078 0/} M, S S, /@ & e& O % 8o
Thermistor Curve = 0x68, 1, 0x26 Input Point 6 = _Ox86, 1, 0x0D %oy O o N ’}0,7(”0 ’70 {9,5 oy, %op Os/ % Sy Ty e Vo Vo
Resistance Range = 0x68, 1, 0x25 |0Utptulg P_Ol”; 6 % Oggﬁi 16 05<E17 Heat Algorithm = 0x6C, 1, 0x03 Fixed Power = 0x6B, 1, 0x0B
Filter = 0x68, 1, OxOE nput Foint /= UXa0, 1, UX Cool Algorithm = 0x6C, 1, 0x04 Open Loop Detect Enable = 0x6C, 1, 0x27
Input Error Latching = 0x68, 1, 0x1C Output Point 7 = 0x86, 1, 0x18 Cool Output Curve = 0x6C, 1, 0x26 Open Loop Detect Time = 0x6C, 1, 0x28 ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Display Precision = 0x68, 1, 0x14 Input Pom? 8= _Ox86, 1, OxOF Heat Proportional Band = 0x6C, 1, 0x09 Open Loop Detect Deviation = 0x6C, 1, 0x29 .| Output Function = Heat Power —> Output Function = Heat Output Function = Alarm
Calibration Offset = 0x68, 1, 0x0C Output Point EE = 0x86, 1, 0x19 Heat Hysteresis = 0x6C, 1, 0x0A Ramp Action = 0x6B, 1, 0x0E "] Output Function Instance = 1 Output Function Instance = 1 2 Output Function Instance = 1
Clear Latch Request = 0x68, 1, 0x1D gs:jtufgg}n? 5 =O):)Ei(%61 !1OXO1XO1A Source Function A = 0x7E, 1, 0x01 Cool Proportional Band = 0x6C, 1, 0x0C  Ramp Scale = 0x6B, 1, 0xOF o ] ) o ]
o J)t ot 10 = 0x86. 1. 0ni1 Source Instance A = 0x7E. 1. 0x06 Cool Hysteresis = 0x6C, 1, 0x0D Ramp Rate = 0x6B, 1, 0x11 Output D|g|tal_ Function - Output Proces_s Function Output Dlgltal_ Function -
Oﬁtput Point 10 = Ox86. 1. 0x1B Source Function B = 0x7E, 1, 0x02 pme gte_gratlé Oxgcég’ ?X(())607 h?vpséettF;O'htf %X%% 11, %X%?; Overview OXEA. 1 0x0 - Overview X761 Ox12 Overview OXEA. 2. 0x0
A _ - o Source Instance B = 0x7E, 1, 0x07 ime Derivative = 0x6C, 1, Ox igh Set Point = 0x6B, 1, Ox Instance 1 g | Ox6A, 1, 0x0h, Instance 1 X76, 1, OX Instance 2 | OxBA, 2, 0x05,
7 = v b p ource Value Source Value —————» Source Value
RS % Offset = 0x86, 1, 0x06 Function = Dead Band = 0x6C, 1, 0x08 Closed-Loop Set Point = 0x6B, 1, 0x01
85, unction = Ox7E, 1, 0x15 s by p 1
2 e %;, NN s, e, oXs < 4.9, Pressure Units = 0x7E, 1, 0x1C TRU-TUNE+ Enable = 0x6C, 1, 0x16 Idle Set Point = 0x6B, 1, 0x09 Source Error |- 2X6A. 1. 0x0Fy, Electrical Output Offset |-2X/6. 1. 0x0 Source Error -2X6A. 2. 0x0Fy,
Sy </,‘, s s /? ,? ’s "o /9} ,e e,b ,o(/ ,o(/ Altitude Units = 0x7E, 1, 0x1D TRU-TUNE+ Bar_1d =0x6C, 1, 0x22 Set Po!nt Open L!m!t Lc_)W =0x6B, 1, 0x05 0x6A, 1, 0x0 . 0x76, 1, 0x0 0x6A, 2, 0x0§
%Of@e,,e/b 2 @oe 0% 9’0» ioh,% C‘OG £, 7 ’5@ N &O//.:A% Barometric Pressure = Ox7E, 1, Ox1E TRU-TUNE+ Gain = 0x6C, 1, 0x23 Set Point Open Limit High = 0x6B, 1, 0x06 Input State 4&0 A1 00 Electrical Output Slope 4%0 o 1 oett Input State oA 2 000
D 8 904 /;,/ S4o ’29 Yo Y Yo (”L 206 //, ’5/,7 ‘9’0 /?3‘;’(/@& %, 0f7 ‘7, O Filter = OX7E, 1, OX1A Autotune Set Point = 0x6C, 1, 0x19 Open Loop Set Point = 0x6B, 1, 0x02 Output Power |-0X6A. 1, 0x08, Analog Out Control Operation |-0X76. 1. 0x11,, Output Power |-9X6A. 2. 0x08,
Lo "0 % ° ¢ %, /;,,,’ 7 07 ’f&e Offset = Ox7E, 1, 0x17 Autotune Aggressiveness = 0x6C, 1, 0x18 Control Mode = 0x6C, 1, 0x01 OX6A. 1. 0x07 0x76. 1. Ox1 OXGA. 2. 0x07
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ 7 0 0% P Peltier Delay = 0x6C, 1, 0x33 Autotune = 0x6C, 1, Ox1A Output Value —————p Output Value 4(& Output Value ———=——"p
S, User Failure Action = 0x6B, 1, 0x0C Loop Error Clear Request = 0x6C, 1, 0x31 ] T W1, X1, Y1, or ] F1, H1, G1 ] o W2, Y2 or
R1, 81, T1 » Analog Input Analog Input Value (Unfiltered) 0x68, 1, Ox01} ¢ ¢ ¢ ¢ ¢ '0,% 43}2'8@6 Input Error Failure = 0x6B, 1, 0x0D Tlmeozi%p:%rt‘lg‘m‘né;’ ngtput J1, K1, L1 Process Output Option ‘F’ T|nqoi)g>gggqg!o‘rl|_||r‘lg‘JQU‘th‘ut K2, L2
Ay Py 3 3 3 3 3
Analog Input Filtered Value 0x68,1,0x16 _, “ ‘;r@(‘/’o’@(/ Op.
. . om0 e X, N 20,
Analog Input Function - Overview Input Error [0X68.1.0x02 L _ O s s T o e 4 O Y s D6, O o Sey Ser <op,
Instance 1 0468, 1 0x03 Linearization Function - SO % re w4, D G, 242 %, g, R, ’°o,,7 P
RTD Lead Resistance 222 1. XUy, Overview ¢ ¢ ¢ ¢ ¢ ¢ 4 OO /O 0, ,3,@ ;~ & }'?(, '?(/ gf%/@,q@ '?s,})o"s 6‘%" A?,o(/ % <§ % 0@ 6?0’ % ;7 o, Qo o 0
. 0x68, 1, 0x04 o %, 0/791 /70/ & 9, U6 % R, Rt 6 9y, A P 0.8, A w 9% Qo 'S o S
Ambient Temperature 22— Instance 1 4,74, %%, RN ”7 Oy % 6\ 9 © 8. 885, Y O 8 R Hny 7o, M, S 04 X o, © ONY
_ P 0x68. 1. 0x0. Output Value [2x86. 1. 0x07 > 4(902(90,/"/ CHCN ”9/ J’% M, @ob S, S, BN, g@/ S"’e,,G’OS N 5’43’ /@0' OO" 4;76’0 O@p;%‘,% &@f &@/,f@/,g? /,g’b,, ”’7//’/ 4%;?
Electial Input Offset | 22312 Output Error 0x86. 1, 0x1C > oy Py e %% 0 %5% V0 %%y g 6’70'%/ ey Vy Vg s, @/y O”7 Dg Y0y o6, g Yo, Yo 0‘9/ % % Vo Oy s 0, o Pty 0
; 0x68, 1, 0x0 > i i
Electrical Input Slope |-2X68. 1. 0x0By 0x86. 1. 0x04 PV Function - Overview
—1_:—>
Eloctical Measurement 0168, 1.0X15, Source Value A instance 1 YV Y VY VY VY VY VY YV YV YV YV Y VYV YV YV Y YV YV Yy
Output Value Ox7E, 1,0x16 Heat Power |OX6C. 1, 0xOB
Output Error Ox7E, 1,0x1C | Control F i o _ Cool Power |-9X6C. 1, OxOf
s Value A OX7E. 1. 0x1 ontrol Function - Overview b ] 0x6C. 1, 0x2
Source Function A = 0x86, 2, 0x01 ource Value A [OX/E1.0x10, Instance 1 ower [X0C. 1.0,
Source Instance A= 0x86, 2, 0x02 Source Value B 1OX7E. 1, Ox11y, Closed-Loop Set Point -2X6B. 1. 0x07,
Function = 0x86, 2, 0x05 ) 0x6B. 1. 0x0
Units = 0x86, 2, 0x1D > Open Loop Set Point 48>
Input Point 1 = 0x86, 2, 0x08 - 0x6C, 1, 0x1§
Sensor Type = 0x68, 2, 0x05 Output Point 1= 0x86, 2, 0x12 > Autotune Status
TC Linearization = 0x68, 2, 0x06 Input Point 2 = 0x86, 2, 0x09 Open Loop Error [2X6C. 1. 0x3G,
RTD Leads = 0x68, 2, 0x07 Output Point 2 = 0x86, 2, 0x13 , 0x6C, 1, 0x0
gnltls =LOX68,02,6%X22A0 oF Input Point 3 = 0x86, 2, 0x0A Control Active Mode 42>
cale Low = 0x68, 2, Ox Output Point 3 = 0x86, 2, 0x14 int |OX6B. 1, 0x0A,
Scale High = 0x68, 2, 0x10 A Bumpless Set Point
nput Point 0x86, 2, 0x0B 0x6B, 1, Ox1
Eange hqu:f %x%% 22 %x1112 Output Point 4 = 0x86, 2, 0x15 Ramp Set Point (Produced) 40>
ange nigh = Ux6o, 2, Ux Input Point 5 = 0x86, 2, 0x0C g ; 0x6B, 1, 0x14,
Process Error Enable = 0x68, 2, Ox1E Oﬁtput Point 5 = 0x86, 2, 0x16 ' > Ramp Set Point (TaI’QEt)
Process Error Low Value = 0x68, 2, 0x1F Input Point 6 = 0x86, 2, 0x0D ® > Idle Set Point |-0X6B. 1. 0x13,
Thermistor Curve = 0x68, 2, 0x26 Output Point 6 = 0x86, 2, 0x17
Remstance Range = 0x68, 2, 0x25 Input Point 7 = 0x86, 2, 0xOE
Filter = 0x68, 2, 0x0E Output Point 7 = 0x86, 2, 0x18
g{pu: Ergr '-?t_chm_gg 2263 (2) %10 Input Point 8 = 0x86, 2, OxOF
o e o O Output Point 8 = 0x86, 2, 0x19 Output Function = 0x6A, 3, 0x05 Output Type = 0x76, 3, 0x01 Range Low = 0x76, 3, 0x0B Output Function = 0x6A, 4, 0x05
Calibration Offset = 0x68, 2, 0x0C Input Point 9 = 0x86, 2, 0x10 . - . T . o
Clear Latch Request = 0x68, 2, 0x1D Output Point9 = 0 8’6 ’2 Ox1A Output Function Instance = 0x6A, 3, 0x06 Output Function = 0x76, 3, 0x02 Range High = 0x76, 3, 0x0C Output Function Instance = 0x6A, 4, 0x06
e utput Foint 9= UxSb, 2, UX Output Control = 0x6A, 3, 0x02 Retransmit Source = 0x76, 3, 0x03 Output Low Power Scale = 0x76, 3, 0xOD  Output Control = 0x6A, 4, 0x02
Input Point 10 = _0X86' 2, 0x11 Output Time Base = 0x6A, 3, 0x03 Output Function Instance = 0x76, 3, 0x04 Output High Power Scale = 0x76, 3, 0xOE ~ Output Time Base = 0x6A, 4, 0x03
') Output Point 10 = 0x86, 2, 0x1B Output Low Power Scale = 0x6A, 3, 0x09 Scale Low = 0x76, 3, 0x09 Offset = 0x76, 3, 0x07 Output Low Power Scale = 0x6A, 4, 0x09
A% e, ,9 % Offset = 0x86, 2, 0x06 Output High Power Scale = 0x8A, 3, 0x0A Scale High = 0x76, 3, 0x0A Output High Power Scale = 0x8A, 4, 0x0A
» O@ @6\ @ (// C 9/~ O
C V) S &8, 9/6 4
Sy, 4 o, % o5 6 Yoy e
@o@ofssf/lj)b( @oe&ce/f '? 0 ’O’" <oh/\% Oo@/? g y 9 g'? A (/’QOZ'OO,/) o"(ogo’b(,/ O(/’b(/f OO(OS <7 O(//S/(/
Do, 00 5 6’0/; o 6% g 106 ”f 6”7 2% ”3@%&,« Yy & %0 Tt O 0240 %05 Of %2 « »/Y’o 0 q‘? 46’04
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ R /}// 0" % &G‘/ (/(O(/ (//7;);)0 O‘Iz,oo/'lz O(//{b(// Z&/';éb’? & S ’? '?/7 O‘I/ 01'1/ (/'/O(//(//);): th,ool'l/
. % CCE ,O(// &, &y /;‘S‘/OQ/GG % & s, o Q. % s,@e,
7%, Soe 0,05, %, %t %, 0, 6; 0'59 ) 06'559 sy, 5 s 0O
R2, % Analog Input Analog Input Value (Unfiltered) 0x68, 2, Ox01§ ¢ ¢ ¢ ¢ ¢ AR P " "0 0o "W "0 " e e v S e
Analog Input Filtered Value 0x68, 2, 0x16 » ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Analog Input Function - Overview Input Error [0X68.2.0x02 oo — on = .
» ; it [P Output Function = Off Output Function = Off Output Function = Off
Instance 2 RTD Lead Resistance |2X68.2. 0x03y, Lmearlzoa\tlleorr\]/igijncuon 2 Output Function Instance = 1 Output Function Instance = 1 2 Output Function Instance = 1
Ambient Temperature |-2x68. 2. 0x04y, Instance 1 0x86. 2. 0X07 Output Digital Function - Output Process Function Output Digital Function -
Electrical Input Offset -2x68. 2. 0x0A Output Value — Overview - Overview Overview
Electrical Input SI 0x68, 2, 0x0 Output Error [ 2X86.2. 0x1C Instance 3 Source Value [2X6A. 3. 0x0 Instance 3 Source Value [0X76.3, 0x12y Instance 4 Source Value |-2X6A. 4. 0x0
ectrical Input Slope | 0x68, 2, 0x0B,,
i 0x68, 2, 0x15y, Source Value A E0. 2,008 Source Error 4}0X6A' 3, 0x0hy Electrical Output Offset 45“(76’ 3, 0x0 Source Error —;;}OXGA 4, 0x0R
Electrical Measurement = | 0x6A, 3, 0x0B . 0X76, 3, 0x06, OxBA, 4, 0x0B
Not in 1/32 DIN nput State Electrical Output Slope Input State
A N.IOt in|1/32t 8”\: Auxilary Input Option Output Power Ox6A, 3, 0x0 Analog Out Control Operation | 0x76, 3, Ox11,, Output Power Ox6A, 4, 0x0
uxilary Input Option
Output Value |-2X6A. 3. 0x0%, Output Value |2X76.3.0x1Gy Output Value |-0XBA. 4. 0x07
W3, X3, Y3, or F3, H3, G3 W4, Y4 or
Not in 1/32 DIN J3, K3, L3 Not in 1/32 DIN Not in 1/32 DIN K4, L4
Time Proportioning Output Process Output Option ‘F’ Time Proportioning Output
Options ‘C’, 'E’, ‘K’ Options ‘C’, ‘H', 'J’, 'K
Source Function A= 0x87, 1, 0x01 Power On Level 2 = 0x87, 1, Ox14
Source Instance A = 0x87, 1, 0x03 Power Off Level 2 = 0x87, 1, 0x15
Source Function B = 0x87, 1, 0x02 Minimum On Time = 0x87, 1, 0x16
Source Instance B = 0x87, 1, 0x04 Minimum Off Time = 0x87, 1, 0x17
Function = 0x87, 1, 0x09 Valve Travel Time = 0x87, 1, 0x18
Power On Level 1 =0x87, 1, 0x12 Dead Band = 0x87, 1, 0x19
Power Off Level 1 =0x87, 1, 0x13 Time Delay = 0x87, 1, Ox1A
s ) L
0y, Oy "0, "0, "1, 1 5,
. e, o X, ™, “, S » »
[0) 0. 0 1 ks Oy 7
A0 750, N5 70,7 000, S,
0’70;-(@0 ( ( ( D /7} &'},@/) O'@ e
0, &/ @/ 7 0/9 @/? //;7 //;76) //)76 6,70, /. 5,
- > Source Function A_: none Source Value A M
Source Instance A = 1 0x87. 1, 0X0
Source Value B 48>
> zource IFunctlonII:_:lnone Output Value 1 0x87, 1 OXOA
ourc.e neance B - : Output Error 1 4950)(87’ 1,0x0
Special Output Function - P
. 0x87, 1, 0x0
Overview Output Value 2
Instance 1 Output Error 2 0x87, 1, 0x0
Not in 1/32 or 1/16 DIN
Enhanced Firmware Option
Alarm Type = 0x6D, 1, Ox0F Alarm Type = 0x6D, 2, Ox0F Alarm Type = 0x6D, 3, Ox0F Alarm Type = 0x6D, 4, 0xOF
Alarm Source = 0x6D, 1, 0x11 Alarm Source = 0x6D, 2, 0x11 Alarm Source = 0x6D, 3, 0x11 Alarm Source = 0x6D, 4, 0x11
Alarm Source Instance = 0x6D, 1, 0x12 Alarm Source Instance = 0x6D, 2, 0x12 Alarm Source Instance = 0x6D, 3, 0x12 Alarm Source Instance = 0x6D, 4, 0x12
Control Loop = 0x6D, 1, 0x17 Control Loop = 0x6D, 2, 0x17 Control Loop = 0x6D, 3, 0x17 Control Loop = 0x6D, 4, 0x17
Alarm Hysteresis = 0x6D, 1, 0x03 Alarm Hysteresis = 0x6D, 2, 0x03 Alarm Hysteresis = 0x6D, 3, 0x03 Alarm Hysteresis = 0x6D, 4, 0x03
Alarm Logic = 0x6D, 1, 0x05 Alarm Logic = 0x6D, 2, 0x05 Alarm Logic = 0x6D, 3, 0x05 Alarm Logic = 0x6D, 4, 0x05
Alarm Sides = 0x6D, 1, 0x04 Alarm Sides = 0x6D, 2, 0x04 Alarm Sides = 0x6D, 3, 0x04 Alarm Sides = 0x6D, 4, 0x04
Alarm Low Set Point = 0x6D, 1, 0x02 Alarm Low Set Point = 0x6D, 2, 0x02 Alarm Low Set Point = 0x6D, 3, 0x02 Alarm Low Set Point = 0x6D, 4, 0x02
Alarm High Set Point = 0x6D, 1, 0x01 Alarm High Set Point = 0x6D, 2, 0x01 Alarm High Set Point = 0x6D, 3, 0x01 Alarm High Set Point = 0x6D, 4, 0x01
Alarm Latching = 0x6D, 1, 0x07 Alarm Latching = 0x6D, 2, 0x07 Alarm Latching = 0x6D, 3, 0x07 Alarm Latching = 0x6D, 4, 0x07
Alarm Blocking = 0x6D, 1, 0x08 Alarm Blocking = 0x6D, 2, 0x08 Alarm Blocking = 0x6D, 3, 0x08 Alarm Blocking = 0x6D, 4, 0x08
Alarm Silencing = 0x6D, 1, 0x06 Alarm Silencing = 0x6D, 2, 0x06 Alarm Silencing = 0x6D, 3, 0x06 Alarm Silencing = 0x6D, 4, 0x06
Alarm Display = 0x6D, 1, 0x10 Alarm Display = 0x6D, 2, 0x10 Alarm Display = 0x6D, 3, 0x10 Alarm Display = 0x6D, 4, 0x10
Alarm Delay Time = 0x6D, 1, 0x15 Alarm Delay Time = 0x6D, 2, 0x15 Alarm Delay Time = 0x6D, 3, 0x15 Alarm Delay Time = 0x6D, 4, 0x15
Alarm Clear Request = 0x6D, 1, 0x0D Alarm Clear Request = 0x6D, 2, 0x0D Alarm Clear Request = 0x6D, 3, 0x0D Alarm Clear Request = 0x6D, 4, 0x0D
Alarm Silence Request = 0x6D, 1, OxOE Alarm Silence Request = 0x6D, 2, OxOE Alarm Silence Request = 0x6D, 3, OxOE Alarm Silence Request = 0x6D, 4, Ox0E
s, b, U s,
Ay Y Vo, Ay Y Vo, A W ’7/ Z A Y Vo,
Y ,<,, A j,@”’@ %, ,<,, A j,@”’@ %, %;j%&/ 4 30,7, 3, /b’b'ﬁ@,@ %, %j’o)&/ " j,@”’@
Vo 4, T ‘l/ o a0 @e/’oe 4/"’&4/ "/ o a0 @e/’oe U4y, o, Yo 0 B 0 0 @s/’o U Ay, Vo, T s o Jap 0 @e/’oe
7 ’77;@@‘9@ Lo S /0’0«9 7 ’77;@@‘9@ Lo S /"’oa Uy L, /7;/7;‘%@49/ /)’ % 2, QfJ’sef %@e@e o S //7709
/)77‘ @e o, Sk f'oo/'oo zb/oo/ %, /,O/ % 7j, 78 < S /'oo”oo z}_,/ool %, /,O/ % lbfi, { f'oof'oo s, %, /8/70/ ,O/J/)/@Qos% /)77j, 78 < /'oo/’oo z}_,/oo/ %, /,O/ RN
V6 St 01 s Ui Uig 2 g g Ry g G Sy e S 0% s Oy Oy o P o %y g By By e S Kt %5 Yoy Yoy 0 o g Ry s By By N A S DAL

. TR EEY IR Y IR Y TR Y

! =X L 01}00‘9/)0 Active Level = Ox6E, 4, L ’}6,7‘9’70 Alarm Source = Analog Input Alarm State  |10X6D. 1. 0x0 Alarm Source = Analog Input Alarm State |12X6D. 2. 0x0 Alarm Source = Analog Input Alarm State  |12X6D. 3. 0x0 Alarm Source = Analog Input Alarm State |0X6D. 4. 0x0
Action Function = (1x6E, 3, 0x03 7 Action Function = (1x6E, 4,0x03 & ® —» Alarm Source Instance = 1 0x6D, 1, 0x0A —»| Alarm Source Instance = 1 0x6D. 2. Ox0OA —— Alarm Source Instance = 1 0x6D. 3. 0x0A ——» Alarm Source Instance = 1 0x6D, 4, 0x0
Function Instance = 0x6E, 3, 0x04 ¢ ¢ ¢ Function Instance = 0x6E, 4, 0x04 ¢ ¢ ¢ Control Loop = 1 Alarm Latched 4'L¥ Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched %

— » EZK = Alarm Function - Overview Alarm Silenced -2X6D. 1. 0x08, Alarm Function - Overview Alarm Silenced -2X6D. 2. 0x05, Alarm Function - Overview Alarm Silenced -2X6D.3. 0x05, Alarm Function - Overview Alarm Silenced -2X6D.4. 0x08,
ey ey Inst 1 Inst 2 Inst 3 Inst 4
Function Key - Overview Function Key - Overview nstance Alarm Clearable 0x6D, 1, 0x0 nstance Alarm Clearable 0x6D, 2, 0x0 nstance Alarm Clearable 0x6D, 3. 0x0 nstance Alarm Clearable 0x6D, 4, 0x0
Instance 1 Instance 2 Alarm Working Process Value 0x6D, 1, Ox1 Alarm Working Process Value 0x6D, 2, Ox1 Alarm Working Process Value 0x6D, 3, Ox1 Alarm Working Process Value 0x6D, 4, Ox1
Event Status |-0X6E. 3. 0x0 Event Status |-0X6E. 4. 0x0 Alarm Working Set Point 0x6D, 1, 0x1 Alarm Working Set Point 0x6D, 2, 0x1 Alarm Working Set Point 0x6D, 3, 0x1 Alarm Working Set Point 0x6D, 4, 0x1
Input State AOXGA‘ 1.0x0 Input State AOXGA‘ 2, 0x0 Output Value 4“6'3' 1, 0x1 Output Value —’—MD 2, 0x1 Output Value —’—’—8>0X6D 3, 0x1 Output Value 4“6[)' 4, 0x1
Not in 1/32 DIN Not in 1/32 or 1/16 DIN
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Source Function A = 0x86, 1, 0x01 P I\/IX[C J R, B ] J ) N ) E] [2 ,4]XX-[3 J 5] [R7 P]‘ \/ ‘[C J F]XX
Soure e~ 0 102 2 analog inputs
Units = 0x86, 1, 0x1D 2 DIO
Input Point 1 = 0x86, 1, 0x08
Output Point 1 = 0x86, 1, 0x12 1 control loop
4 outputs (Digital or Process)

Input Point 2 = 0x86, 1, 0x09
Enhanced firmware option - (Compressor control, cascade if

Output Function = 0x6A, 2, 0x05

Output Function Instance = 0x6A, 2, 0x06
Output Control = 0x6A, 2, 0x02

Output Time Base = 0x6A, 2, 0x03
Output Low Power Scale = 0x6A, 2, 0x09
Output High Power Scale = 0x6A, 2, 0x0A

Output Function = 0x6A, 1, 0x05

Output Function Instance = 0x6A, 1, 0x06
Output Control = 0x6A, 1, 0x02

Output Time Base = 0x6A, 1, 0x03
Output Low Power Scale = 0x6A, 1, 0x09
Output High Power Scale = 0x6A, 1, 0x0A

Output Type = 0x76, 1, 0x01
Output Function = 0x76, 1, 0x02 Range High = 0x76, 1, 0x0C

Retransmit Source = 0x76, 1, 0x03 Output Low Power Scale = 0x76, 1 ,0x0D
Output Function Instance = 0x76, 1, 0x04 Output High Power Scale = 0x76, 1, 0xOE
Scale Low = 0x76, 1, 0x09 Offset = 0x76, 1, 0x07

Scale High = 0x76, 1, 0x0A

Range Low = 0x76, 1, 0x0B

Sensor Type = 0x68, 1, 0x05
TC Linearization = 0x68, 1, 0x06
RTD Leads = 0x68, 1, 0x07
Units = 0x68, 1, 0x2A

Scale Low = 0x68, 1, OxOF

Output Point 2 = 0x86, 1, 0x13
Input Point 3 = 0x86, 1, 0x0A

Scale High = 0x68, 1, 0x10 Output Point 3 = 0x86, 1, 0x14 . ) . o . %%, 2 %%, %%,

Range Low = 0x68, 1, 0x11 Input Point 4 = 0x86, 1, 0x0B two loops, ratio if two inputs, differential if two inputs, square Sy, PRI %"o % Sy,

Range High = 0x68, 1, 0x12 Output Point 4 = 0x86, 1, 0x15 t torized | 0, (/'b(,o”',o/‘%,o O(//G&%(//,O/‘ h/ /4 0, (/,'{Ooo"',o/‘g’ﬁ,o

Process Error Enable = 0x68, 1, 0x1E Input Point 5 = 0x86, 1, 0x0C root, motorized va Ve) %, 20,0 QL 5, %0 & S, "P R, %0, % %, 20,70
Output Point 5= 0x86, 1, 0x16 : %o e e M By R, s 0oy e g o0 o 6 %o e e M

Process Error Low Value = 0x68, 1, 0x1F put Foint 5 1, CIP reglsters - red text Q% o % 5, o, ’Zsy s’/@ & 96& 78, O O/) SENe

Thermistor Curve = 0x68, 1, 0x26 input Point &= 0xB8, 1, 0x00 oy 50 V% e Yo o cg o, 0y, oy P Cor ey %oy O5s U U

Resistance Range = 0x68, 1, 0x25 Output Point 6 = 0x86, 1, 0x17

Heat Algorithm = 0x6C, 1, 0x03
Cool Algorithm = 0x6C, 1, 0x04
Cool Output Curve = 0x6C, 1, 0x26

Fixed Power = 0x6B, 1, 0x0B
Open Loop Detect Enable = 0x6C, 1, 0x27
Open Loop Detect Time = 0x6C, 1, 0x28

Input Point 7 = 0x86, 1, 0x0E

Filter = 0x68, 1, Ox0E !
Output Point 7 = 0x86, 1, 0x18

Input Error Latching = 0x68, 1, 0x1C

YYVY YYVYYVYYYYVYVY YVYVy

Display Precision = 0x68, 1, 0x14 gtht Ft)?:i”F 8t ; _O)Bi%; 110)60)(':19 Heat Proportional Band = 0x6C, 1, 0x09  Open Loop Detect Deviation = 0x6C, 1, 0x29 _| Output Function = Heat Power — Output Function = Heat Output Function = Alarm
Calibration Offset = 0x68, 1, 0x0C utput Foint & = o Heat Hysteresis = 0x6C, 1, 0x0A Ramp Action = 0x6B, 1, OxOE " Output Function Instance = 1 Output Function Instance = 1 ) Output Function Instance = 1
Clear Latch Request = 0x68, 1, 0x1D Input Point 9 = 0x86, 1, 0x10 ion A= Cool Proportional Band = 0x6C, 1, 0x0C Ramp Scale = 0x6B, 1, 0xOF
Output Point 9 = 0x86. 1. Ox1A Source Function A = 0x7E, 1, 0x01 o . . o ]
| u PtUP ,01”10 20 X86 o Xﬂ Source Instance A = 0x7E. 1. 0x06 Cool Hysteresis = 0x6C, 1, 0x0D Ramp Rate = 0x6B, 1, 0x11 Output Digital Function - Output Process Function Output Digital Function -
gﬁtuput%lgint 10 = 0x86. 1 Ox1B Source Function B = 0x7E, 1, 0x02 pme Bte_gratl_ = Oxgcég’ ?X(())607 h?vpséettF;O'htf %X%% 11, %X%?; Overview XA 1 00 - Overview 05761 Oxi Overview XA 2. 0x0
A _ N T Source Instance B = 0x7E, 1, 0x07 Ime Derivative = UXoL, 1, UX Igh et Foint = Uxob, 1, UX Instance 1 XBA, 1, 000, Instance 1 x76, 1, Ox Instance 2 XBA, 2, 0x00,
Aofooe 4, % Offset = 0x86, 1, 0x06 Function = OX7E, 1, 0x15 Dead Band = 0x6C, 1, 0x08 Closed-Loop Set Point = 0x68B, 1, 0x01 Source Value XA 1 Ox0F Source Value 4“ o1 00 Source Value oA 2 OOF
o s, ‘?é\,’} '?@/S (/’é\ Oe/és’Q .9, Pressure Units = Ox7E, 1, 0x1C TRU-TUNE+ Enable = 0x6C, 1, 0x16 Idle Set Point = 0x6B, 1, 0x09 Source Error |2X0A. 1. UXUhy, Electrical Output Offset |-2X/6. 1. 0x05, Source Error |20, £, OXUhy,
HNES &, /"/~O O 7y Q)b 0, % Altitude Units = 0x7E, 1, 0x1D TRU-TUNE+ Band = 0x6C, 1, 0x22 Set Point Open Limit Low = 0x6B, 1, 0x05 0xBA, 1, 0x0 ) 0x76, 1, 0x0 0xBA, 2, 0x0
%Of@e,/'jfb ‘ @ofce,;’) '? 9 ’of <oh,‘9/b » G A f * X ’5‘@ . "»ooj.” Ly Barometric Pressure = OX7E, 1, 0x1E TRU-TUNE+ Gain = 0x6C, 1, 0x23 Set Point Open Limit High = 0x6B, 1, 0x06 Input State 2x0A. 1. 008, Electrical Output Slope 270, 1. 0x06, Input State 204, 2. 008,
7} i O CA ,,// { 6;0 ’7%/ s/(/ (”L 206 ,/, 6/,7 ‘9’0 }%‘@%@s %, (’/71‘7{’7/7 o Filter = OX7E, 1, Ox1A Autotune Set Point = 0x6C, 1, 0x19 Open Loop Set Point = 0x6B, 1, 0x02 Output Power 0x6A, 1, 0x0 Analog Out Control Operation | 0x76, 1, 0x11,, Output Power 0xBA, 2, 0x0.
Lo "0 % ° ¢ %, /;,/ 7 07 ’f&e Offset = Ox7E, 1, 0x17 Autotune Aggressiveness = 0x6C, 1, 0x18 Control Mode = 0x6C, 1, 0x01 OX6A. 1. 0x07 0x76. 1. Ox1 OXGA. 2. 0x07
K 0 0% Peltier Delay = 0x6C, 1, 0x33 Autotune = 0x6C, 1, Ox1A Output Value —————p Output Value 4(& Output Value ———=——"p
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ @e,o User Failure Action = 0x6B, 1, 0x0C Loop Error Clear Request = 0x6C, 1, 0x31 W1, X1, Y1, or F1, H1, G1 W2, Y2 or
R1,SL.T1 3] Analog Input Analog Input Value (Unfiltered) -2X68. 1. 0x01y, B 47 Input Error Failure = 0x6B, 1, 0x0OD Time Proportioning Output J1, K1, L1 Process Output Option ‘F’ Time Proportioning Output K2, L2
Ox68. 1. 0 16' ,fs&(/ //},‘2/%'0 Options ‘C’, ‘E’, ‘K’ Options ‘C’, ‘H’, J', ‘K’
Analog Input Filtered Value X028 1. X »> 2 f’e(/oé(/’ Op.
7
Analog Input Function - Overview Input Error 1 0X68.1,0x02 L inearization Function oy s 15 ey S o N T, 2, s, 029’7(0 o So e, ¢, o
| 1zatl u | - 7 Y, S, (0) )
Instance 1 RTD Lead Resistance 2X68.1.0x03, Overview ¢ ¢ ¢ ¢ ¢ ¢ 4y, OO ;’0 %0, ’3’@ 7‘ ,?(/‘;;?(/ %(7 (/’01?(/649 /?@//ZO@&? &, A/?'o‘/ <O%Z)<Og§ 0@ 2?0, O/;} O,Z) %, 7o
. 0x68, 1, 0x04 S %, Q, /7 '9/ /7 %oy & /I/ IONUINN L 0% O L9, & & 0. %, A W 9% OO %P, G, S5,
Ambient Temperature 22— Instance 1 ‘4,74, % 4, %o ”7 Oy % 6\ 9 € 8.8y, @/ © 60 Ve, iy o, Qe o, © YO
_ P 068, 1 Ox0 Output Value 9x86. 1. 0x07 > 4{902(902“// o % Vs St Dot i, g, S 5, g@/ “‘/1/@/7@» “: N 5’4;’ WA IR O@pgi%’;’o &@f @@/,fsf,f /,g’);,, % 0, 4%;? g
Electrical Input Offset —'—’AOXGS oo Output Error 0x86., 1, 0x1C > . - o . 7 /),77 e 9/; @% ‘9/70, 0/'5'0/' &p 6/70,%/ 9/70, %% o,,)/ N /yo,o J/ /o,) (8L % o, /00 (N C‘e/ e,@O/,,/ O//),« O/,)f O’/),« oy @6 %% 0,, Sy
Electrical Input Slope [ 2X68. 1. 0x0By, 0x86. 1. 0x04 unction - Overview
—1_:—>
Eloctical Measurement 0168, 1.0X15, Source Value A instance 1 YV Y VY VY VY VY VY YV YV YV YV Y VYV YV YV Y YV YV Yy
Output Value Ox7E, 1, 0x16 » Heat Power Ox6C, 1, 0x0B
Output Error Ox7E, 1,0x1C | . _ Cool Power |-9X6C. 1, OxOf
OX7E. 1. Ox1 Control Function - Overview 0x6C. 1. 0x2
Source Function A = 0x86, 2, 0x01 Source Value A X5 1. 0X10 Instance 1 Power | X0C.1.0X2%,
Source Instance A= 0x86, 2, 0x02 Source Value B 1OX7E. 1, Ox11y, Closed-Loop Set Point -2X6B. 1. 0x07,
Fur_]ctlon = 0x86, 2, 0x05 | ) 0x6B, 1, 0X0
Units = 0x86, 2, 0x1D » Open Loop Set Point 48>
Input Point 1 = 0x86, 2, 0x08 - 0x6C, 1, 0x1§
Sensor Type = 0x68, 2, 0x05 OStput Point 1= 0x86, 2, 0x12 > Autotune Status
TC Llnearlza_non = 0x68, 2, 0x06 Input Point 2 = 0x86, 2, 0x09 Open Loop Error 0x6C, 1, 0x3
ST_? '—_egdgg gxg&Zi’ 0x07 Output Point 2 = 0x86, 2, 0x13 Control Active Mode L0X6C. 1. 0x03
Smls_l_ X o ’68X2 0x0F Input Point 3 = 0x86, 2, 0x0A ontrof Active Mode 6B, 1 00
cale Low = Ux©0, £, Ux Output Point 3 = 0x86, 2, 0x14 ; x6B, 1, 0x04,
Scale High = 0x68, 2, 0x10 input Point 4 = 0x86, 3, 0x08 Bumpless Set Point
Range Low = 0x68, 2 Oxi1) Output Point 4 = 0x86, 2, 0x15 Ramp Set Point (Produced) -2x6B. 1. 0]
ange High = Uxoo, 2, UX Input Point 5 = 0x86, 2, 0x0C g ; 0x6B, 1, 0x14,
Process Error Enable = 0X68, 2, Ox1E Oﬁtput Point 5 = 0x86, 2, 0x16 ' > Ramp Set Point (TaI’QEt) X X
Process Error Low Value = 0x68, 2, 0x1F Input Point 6 = 0x86, 2, 0x0D ® q Idle Set Point |-0X6B. 1. 0x13,
Thermistor Curve = 0x68, 2, 0x26 Output Point 6 = 0x86, 2, 0x17 ~
Resistance Range = 0x68, 2, 0x25 Input Point 7 = 0x86, 2, 0xOE
Filter = 0x68, 2, 0x0E Output Point 7 = 0x86, 2, 0x18
Input Error Latching = 0x68, 2, 0x1C Input Point 8 = 0x86, 2, 0xOF
Dieplay Pracislon - oxad. 2 x1e Output Point 8 = 0x86, 2, 0x19 Output Function = 0x6A, 3, 0x05 Output Type = 0x76, 3, 0x01 Range Low = 0x76, 3, 0x0B Output Function = 0x6A, 4, 0x05
Clear Latch Request = 0x68. 2. 0x1D Input PO'”F 9= _OX86’ 2, 0x10 Output Function Instance = 0x6A, 3, 0x06 Output Function = 0x76, 3, 0x02 Range High = 0x76, 3, 0x0C Output Function Instance = 0x6A, 4, 0x06
e Output Point 9_‘ 0x86, 2, Ox1A Output Control = 0x6A, 3, 0x02 Retransmit Source = 0x76, 3, 0x03 Output Low Power Scale = 0x76, 3, 0xOD  Output Control = 0x6A, 4, 0x02
Input Point 10 = _0X86' 2, 0x11 Output Time Base = 0x6A, 3, 0x03 Output Function Instance = 0x76, 3, 0x04 Output High Power Scale = 0x76, 3, 0xOE ~ Output Time Base = 0x6A, 4, 0x03
P Output Point 10 = 0x86, 2, 0x1B Output Low Power Scale = 0x6A, 3, 0x09 Scale Low = 0x76, 3, 0x09 Offset = 0x76, 3, 0x07 Output Low Power Scale = 0x6A, 4, 0x09
77 =
A% e, ,9 by % Offset = 0x86, 2, 0x06 Output High Power Scale = 0x8A, 3, 0x0A Scale High = 0x76, 3, 0x0A Output High Power Scale = 0x8A, 4, 0x0A
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Analog Input Filtered Value 0x68, 2, 0x16 » ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Analog Input Function - Overview Input Error [0X68.2.0x02 oo — on = .
» ; it [P Output Function = Off Output Function = Off Output Function = Off
Instance 2 RTD Lead Resistance |2X68.2. 0x03y, Lmearlzoa\tlleorr\]/igijncuon 2 Output Function Instance = 1 Output Function Instance = 1 A Output Function Instance = 1
Ambient Temperature |-2x68. 2. 0x04y, Instance 1 Output Digital Function - Output Process Function Output Digital Function -
P Output Value |-2x86.2, 0x07 ; ; ;
Electrical Input Offset | 0X68. 2. 0XOA, p Overview - Overview Overview
Electrical Input SI 0x68. 2. 0x0 Output Error 9x86.2.0x1C Instance 3 Source Value [2X6A. 3. 0x0 Instance 3 Source Value [0X76.3, 0x12y Instance 4 Source Value -2X6A. 4. 0x0
ectrical Input Slope —'—B>
) 0x68, 2, 0x150 Source Value A - 2x86.2. 0x04y Source Error [2X6A. 3. 0xO0Fy, Electrical Output Offset 0x76, 3, 0x0 Source Error [2X6A. 4, 0XOFy,
Electrical Measurement = 0x6A, 3, 0x0 . 0x76, 3, 0x0 0x6A, 4, 0x0
Not in 1/32 DIN Input State A Electrical Output Slope 46> Input State A
A N'IOt in|1/32t 8”\: Auxilary Input Option Output Power |-9X6A. 3. 0x0 Analog Out Control Operation |-2X/6.3. 0x11y, Output Power -2X6A. 4. 0x0
uxilary Input Option
Output Value |-2X6A. 3. 0x0%, Output Value |2X76.3.0x1Gy Output Value |-0XBA. 4. 0x07
W3, X3, Y3, or F3, H3, G3 W4, Y4 or
Not in 1/32 DIN J3, K3, L3 Not in 1/32 DIN Not in 1/32 DIN K4, L4
Time Proportioning Output Process Output Option ‘F’ Time Proportioning Output
Options ‘C’, 'E’, ‘K’ Options ‘C’, ‘H', 'J’, 'K
Source Function A= 0x87, 1, 0x01 Power On Level 2 = 0x87, 1, Ox14
Source Instance A = 0x87, 1, 0x03 Power Off Level 2 = 0x87, 1, 0x15
Source Function B = 0x87, 1, 0x02 Minimum On Time = 0x87, 1, 0x16
Source Instance B = 0x87, 1, 0x04 Minimum Off Time = 0x87, 1, 0x17
Function = 0x87, 1, 0x09 Valve Travel Time = 0x87, 1, 0x18
Power On Level 1 =0x87, 1, 0x12 Dead Band = 0x87, 1, 0x19
Power Off Level 1 =0x87, 1, 0x13 Time Delay = 0x87, 1, Ox1A
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- > Source Function A = none Source Value A M
Source Instance A = 1 0x87. 1. 0x0
Source Value B 48>
> Source Function B = none Output Value 1 0x87, 1 OXOA
Source Instance B = 1 0x87. 1 0xog
Special Output Function - ©utputErrorl
. 0x87, 1, 0x0
Overview Output Value 2
Instance 1 Output Error 2 0x87, 1, 0x0
Not in 1/32 or 1/16 DIN
Enhanced Firmware Option
Alarm Type = 0x6D, 1, Ox0F Alarm Type = 0x6D, 2, Ox0F Alarm Type = 0x6D, 3, Ox0F Alarm Type = 0x6D, 4, 0xOF
Alarm Source = 0x6D, 1, 0x11 Alarm Source = 0x6D, 2, 0x11 Alarm Source = 0x6D, 3, 0x11 Alarm Source = 0x6D, 4, 0x11
Alarm Source Instance = 0x6D, 1, 0x12 Alarm Source Instance = 0x6D, 2, 0x12 Alarm Source Instance = 0x6D, 3, 0x12 Alarm Source Instance = 0x6D, 4, 0x12
Digital I/O Direction = 0x6A, 5, 0x01 Digital I/O Direction = 0x6A, 6, 0x01 Control Loop = 0x6D, 1, 0x17 Control Loop = 0x6D, 2, 0x17 Control Loop = 0x6D, 3, 0x17 Control Loop = 0x6D, 4, 0x17
Output Function = 0x6A , 5, 0x05 Output Function = 0x6A , 6, 0x05 Alarm Hysteresis = 0x6D, 1, 0x03 Alarm Hysteresis = 0x6D, 2, 0x03 Alarm Hysteresis = 0x6D, 3, 0x03 Alarm Hysteresis = 0x6D, 4, 0x03
Output Function Instance = 0x6A , 5, 0x06 Output Function Instance = 0x6A , 6, 0x06 Alarm Logic = 0x6D, 1, 0x05 Alarm Logic = 0x6D, 2, 0x05 Alarm Logic = 0x6D, 3, 0x05 Alarm Logic = 0x6D, 4, 0x05
Output Control = 0x6A , 5, 0x02 Output Control = 0x6A , 6, 0x02 Alarm Sides = 0x6D, 1, 0x04 Alarm Sides = 0x6D, 2, 0x04 Alarm Sides = 0x6D, 3, 0x04 Alarm Sides = 0x6D, 4, 0x04
Output Time Base = 0x6A , 5, 0x03 Output Time Base = 0x6A , 6, 0x03 Alarm Low Set Point = 0x6D, 1, 0x02 Alarm Low Set Point = 0x6D, 2, 0x02 Alarm Low Set Point = 0x6D, 3, 0x02 Alarm Low Set Point = 0x6D, 4, 0x02
Output Low Power Scale = 0x6A , 5, 0x09 Output Low Power Scale = 0x6A , 6, 0x09 Alarm High Set Point = 0x6D, 1, 0x01 Alarm High Set Point = 0x6D, 2, 0x01 Alarm High Set Point = 0x6D, 3, 0x01 Alarm High Set Point = 0x6D, 4, 0x01
Output High Power Scale = 0x6A , 5, 0x0A Output High Power Scale = 0x6A , 6, 0x0A Alarm Latching = 0x6D, 1, 0x07 Alarm Latching = 0x6D, 2, 0x07 Alarm Latching = 0x6D, 3, 0x07 Alarm Latching = 0x6D, 4, 0x07
Active Level = Ox6E , 1, 0x01 Active Level = 0x6E , 2, 0x01 Alarm Blocking = 0x6D, 1, 0x08 Alarm Blocking = 0x6D, 2, 0x08 Alarm Blocking = 0x6D, 3, 0x08 Alarm Blocking = 0x6D, 4, 0x08
Action Function = 0x6E , 1, 0x03 Action Function = 0x6E , 2, 0x03 Alarm Silencing = 0x6D, 1, 0x06 Alarm Silencing = 0x6D, 2, 0x06 Alarm Silencing = 0x6D, 3, 0x06 Alarm Silencing = 0x6D, 4, 0x06
Function Instance = Ox6E , 1, 0x04 Function Instance = 0x6E , 2, 0x04 Alarm Display = 0x6D, 1, 0x10 Alarm Display = 0x6D, 2, 0x10 Alarm Display = 0x6D, 3, 0x10 Alarm Display = 0x6D, 4, 0x10
Alarm Delay Time = 0x6D, 1, 0x15 Alarm Delay Time = 0x6D, 2, 0x15 Alarm Delay Time = 0x6D, 3, 0x15 Alarm Delay Time = 0x6D, 4, 0x15
o o Alarm Clear Request = 0x6D, 1, 0x0D Alarm Clear Request = 0x6D, 2, 0x0D Alarm Clear Request = 0x6D, 3, 0x0D Alarm Clear Request = 0x6D, 4, 0x0D
O(/,«(/ O(% (//0 O(/,«(/ O(% 0/0 Alarm Silence Request = 0x6D, 1, Ox0E Alarm Silence Request = 0x6D, 2, OxOE Alarm Silence Request = 0x6D, 3, OxOE Alarm Silence Request = 0x6D, 4, Ox0E
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, ; direction —» Digital Input Value direction —3 Digital Input Value
e, %,. % A %,. %, ar 9 p air
Active Level = 0x6E, 3, 0x01 &bzk"’f/’@/ Active Level Ox6E40x01&bGZ'(;”f/o‘9/ = et DIO Function - Overview s et DIO Function - Overview YYYYYYYYYYYYY 0x6D, 1, 0x0 YYYYYYYYYYYYY 0x6D, 2, 0x0 YYYYYYYYYYYYY 0x6D, 3. 0x0 YYYYYYYYYYYYY 0x6D, 4, 0x0
= 9 &, Gy 9 = i &, Gy 9 Alarm Source = Analog Input | Ox6D, 1, 0x08, Alarm Source = Analog Input | Ox6D, 2, 0x09, Alarm Source = Analog Input | Ox6D, 3, 0x08, Alarm Source = Analog Input | Ox6D, 4, 0x08,
Action Function = Ox6E, 3, 0x03 Vs, %0, ’70 Action Function = Ox6E, 4, 0x03 Vs, %0, o“e Instance 5 Instance 6 u g Inpu Alarm State u g Inpu Alarm State u g Inpu Alarm State u g Inpu Alarm State

Event Status OX6E, 1, 0x0

0x6D, 1, 0xog —» Alarm Source Instance = 1

O0x6E, 2, 0x0 » Alarm Source Instance = 1 0x6D. 2. 0x0A ——» Alarm Source Instance = 1
Event Status | *05-2.0x05, Control Loop =1 Control Loop = 1 L Ox6D. 2, 0x0f,

0x6D. 3. 0x0. —» Alarm Source Instance = 1
Control Loop =1 —’_’4

Control Loop =1

Alarm Latched 0x6D, 4, 0x0.

Alarm Latched Alarm Latched

Function Instance = 0x6E, 3, 0x04 ¢ ¢ ¢ Alarm Latched

Function Instance = Ox6E, 4, 0x04
Yvy

3 Ezk SN == Input State |-2X6A. 5. 0x0B, Input State |-2X6A. 6. 0x0B, Alarm Function - Overview Alarm Silenced -2X6D. 1. 0x08, Alarm Function - Overview Alarm Silenced -2X6D. 2. 0x05, Alarm Function - Overview Alarm Silenced -2X6D.3. 0x05, Alarm Function - Overview Alarm Silenced -2X6D. 4. 0X0B,
e e
Fuﬁction Key Overview Fuﬁction Key Overview Input Value Ox6A, 5, 0x0 Input Value Ox6A, 6, 0x0 Instance 1 Alarm Clearable 0x6D, 1, 0x0 Instance 2 Alarm Clearable 0x6D, 2, 0x0 Instance 3 Alarm Clearable 0x6D, 3, 0x0 Instance 4 Alarm Clearable 0x6D, 4, 0x0
Instance 1 Instance 2 Output Power Ox6A, 5, 0x0 Output Power Ox6A, 6, 0x0 Alarm Working Process Value 0x6D, 1, Ox1 Alarm Working Process Value 0x6D, 2, Ox1 Alarm Working Process Value 0x6D, 3, 0x1 Alarm Working Process Value 0x6D, 4, 0x1
Event Status |-0X6E. 3. 0x0 Event Status |-0X6E. 4. 0x0 Output Error M Output Error M Alarm Working Set Point 0x6D, 1, 0x1 Alarm Working Set Point 0x6D, 2, 0x1 Alarm Working Set Point 0x6D, 3, 0x1 Alarm Working Set Point 0x6D, 4, 0x1
Input State Ox6A, 1, 0x0 Input State Ox6A, 2, 0x0 Output State M} Output State M Output Value 0x6D, 1, 0x1 Output Value 0x6D, 2, 0x1 Output Value 0x6D, 3, 0x1 Output Value 0x6D, 4, Ox1
B5, D5 if B5, D6 if
Not in 1/32 DIN Not in 1/32 or 1/16 DIN DIO Options ‘2", ‘4’ direction DIO Options ‘2’, ‘4’ direction
is output is output
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Source Functon A= 165, 1,011 PMx[C,R,B,J,N,E][1,3]xx-[3,5][R,P]JAA[A,D]xx Gutpu Funton =04, 2,005

- . Output Function Instance = 0x6A, 2, 0x06
ESﬁ;ﬁi;"f%’;‘g%ﬁ 0%856' 1, 0x02 2 analog inputs Output Function = 0x6A, 1, 0x05 Output Type = 0x76, 1, 0x01 Range Low = 0x76, 1, 0x0B Output Control = 0x8A, 2, 0x02
Units = 0x86. 1 Ox1 D 0 DIO Output Function Instance = 0x6A, 1, 0x06 Output Function = 0x76, 1, 0x02 Range High = 0x76, 1, 0x0C Output Time Base = 0x6A, 2, 0x03
_ Input Point 1 _ bx86 1. 0x08 Output Control = 0x6A, 1, 0x02 Retransmit Source = 0x76, 1, 0x03 Output Low Power Scale = 0x76, 1 ,0x0D Output Low Power Scale = 0x6A, 2, 0x09
Sensor Type = OX_G& 1, 0x05 Output Point 1 = 0x86. 1. 0x12 1 control IOOp Output Time Base = 0x6A, 1, 0x03 Output Function Instance = 0x76, 1, 0x04 Output High Power Scale = 0x76, 1, OxOE Output High Power Scale = 0x6A, 2, 0x0A
;%')-'Eeagz"f'gneé 0X6% 3, 0X00 Input Point 2 = 0x86. 1, 0x09 M Output Low Power Scale = 0x6A, 1, 0x09 Scale Low = 0x76, 1, 0x09 Offset = 0x76, 1, 0x07
DL beads = s, L X Output Point 2 = 0x86, 1, 0x13 4 outputs (Digital or Process) Output High Power Scale = 0x6A, 1, 0x0A Scale High = 0x76, 1, 0x0A
Scale Low = 0x68, 1, 0XOF Input Point 3 = 0x86, 1, 0XOA : :
Scale High = 0x68, 1, 0x10 Output Point 3 = 0x86, 1, Ox14 No enhanced flrmware Optlon OO((O(// O(/f OO((O O(//O(//
Range Low = 0x68, 1, 0x11 Input Point 4 = 0x86, 1, 0x0B Remote Set Point S % p "0/"/ L
Range High = 0x68, 1, 0x12 Output Point 4 = 0x86, 1, 0x15 : 0240, %, 0., ,/Y/,, 024,40, %,
_ Input Point 5 = 0x86, 1, 0xOC CIP reqisters - red text by, P YRR 0, %o, s, %, Ry R by, P YRR
Process Error Enable = 0x68, 1, Ox1E ; O < 7 Oy, Oy, U U, S S /‘P th 011/ O 2, 0y, 0y,
Process Error Low Value = 0x68, 1, 0x1F Output Point 5 = 0x86, 1, 0x16 fOO e Sr & '00/}0,7 //SO /’7@,09/6, % 09@ S’e O fOO /}7@@& 2
Thermistor Curve = 0x68, 1, 0x26 Input Point 6 = 0x86, 1, 0x0D /7%/ o Ve Oe/s %@O’}bo"’o ’70 629,5 0,1/679,5 Os/ S }%‘@, /7’}'0/ e OS'/@ OG/G
Resistance Range = 0x68, 1, 0x25 |0Utptulg P_Ol”; 6 =o Oggﬁi 16 05<E17 Heat Algorithm = 0x6C, 1, 0x03 Fixed Power = 0x6B, 1, 0x0B
Filter = 0x68, 1, OxOE nput Foint /= UXa0, 1, UX Cool Algorithm = 0x6C, 1, 0x04 Open Loop Detect Enable = 0x6C, 1, 0x27
Input Error Latching = 0x68, 1, 0x1C Output Point 7 = 0x86, 1, 0x18 Cool Output Curve = 0x6C, 1, 0x26 Open Loop Detect Time = 0x6C, 1, 0x28 ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Display Precision = 0x68, 1, 0x14 gtht F:%'”F 8t N _O)Bi%; 110)60)(':19 Heat Proportional Band = 0x6C, 1, 0x09  Open Loop Detect Deviation = 0x6C, 1, 0x29 .| Output Function = Heat Power — | Output Function = Heat Output Function = Alarm
Calibration Offset = 0x68, 1, 0x0C utput Foint & = 1 Heat Hysteresis = 0x6C, 1, 0x0A Ramp Action = 0x6B, 1, OxOE » Output Function Instance = 1 Output Function Instance = 1 > Output Function Instance = 1
Clear Latch Request = 0x68, 1, 0x1D Input Point 9 = 0x86, 1, 0x10 Source Function A = 0x7E, 1, 0x01 Cool Proportional Band = 0x6C, 1, 0x0C Ramp Scale = 0x6B, 1, 0xOF o _ _ o _
|OUtptuFt> P'Oln1t (? - é) ng ’ 11 ’c? x111A Source Instance A = 0x7E, 1, 0x06 Cool Hysteresis = 0x6C, 1, 0x0D Ramp Rate = 0x6B, 1, 0x11 Output Digital Function - Output Process Function Output Digital Function -
Sﬁfput‘.’a'gim 10 = )Bxg'e 4 )BX1B Source Function B = 0x7E, 1, 0x02 pme Bte_gratl_ = Oxgcég’ ?X(())607 h?vpséettF;O'htf %X%% 11, %X%?; Overview OXEA. 1 0x0 - Overview X761 Ox12 Overview OXEA. 2. 0x0
A _ T Source Instance B = 0x7E, 1, 0x07 Ime Derivative = UXoL, 1, UX Igh et Foint = Uxob, 1, UX Instance 1 XBA, 1, 000, Instance 1 x76, 1, Ox Instance 2 XBA, 2, 0x00,
Aorooe % Offset = 0x86, 1, 0x06 Function = OX7E, 1, 0x15 Dead Band = 0x6C, 1, 0x08 Closed-Loop Set Point = 0x6B, 1, 0x01 Source Value Source Value 4” 1 Source Value
7 G, %;, NN o, vy oXs B 4.9, Pressure Units = 0x7E, 1, 0x1C TRU-TUNE+ Enable = 0x6C, 1, 0x16 Idle Set Point = 0x6B, 1, 0x09 Source Error |- 2X6A. 1. 0x0Fy, Electrical Output Offset 276 1. 0x0 Source Error |- 2X6A. 2, 0x0Fy
HNES &, /"/~O O 7y Q)b 0, % Altitude Units = 0x7E, 1, 0x1D TRU-TUNE+ Band = 0x6C, 1, 0x22 Set Point Open Limit Low = 0x6B, 1, 0x05 0xBA, 1, 0x0 ) 0x76, 1, 0x0 0xBA, 2, 0x0
%Of@e,/'jfb ‘ @ofce,;’) '? 9 ’of <oh,‘9/b Co A f * X ’5‘@ . "«ooj,”»oo/ Barometric Pressure = OX7E, 1, 0x1E TRU-TUNE+ Gain = 0x6C, 1, 0x23 Set Point Open Limit High = 0x6B, 1, 0x06 Input State 2x0A. 1. 008, Electrical Output Slope 270, 1. 0x06, Input State 204, 2. 008,
7} i O CA ,,// { 6;0 ’7%/ Q/QO‘//L 206 ,/, 6/,7 ‘9’0 }%‘@%@s %, (’/71‘7 ’7/7 o Filter = OX7E, 1, Ox1A Autotune Set Point = 0x6C, 1, 0x19 Open Loop Set Point = 0x6B, 1, 0x02 Output Power 0x6A, 1, 0x0 Analog Out Control Operation | 0x76, 1, 0x11,, Output Power 0xBA, 2, 0x0.
Lo "0 % ° ¢ %, /;,,,’ 7 07 ’f&e Offset = Ox7E, 1, 0x17 Autotune Aggressiveness = 0x6C, 1, 0x18 Control Mode = 0x6C, 1, 0x01 OX6A. 1. 0x07 0x76. 1. Ox1 OXGA. 2. 0x07
K 0 0% Peltier Delay = 0x6C, 1, 0x33 Autotune = 0x6C, 1, Ox1A Output Value | 2X0A, 1, OXUhy, Output Value 4(& Output Value | OX0A, 2, OXUly,
¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ @e,o User Failure Action = 0x6B, 1, 0x0C Loop Error Clear Request = 0x6C, 1, 0x31 W1, X1, Y1, or F1, H1, G1 W2, Y2 or
R1,SL.T1 3] Analog Input Analog Input Value (Unfiltered) -2X68. 1. 0x01y, B 47 Input Error Failure = 0x6B, 1, 0x0OD Time Proportioning Output J1, K1, L1 Process Output Option ‘F’ Time Proportioning Output K2, L2
0x68. 1. 0x16 /fs*“(/ /l},‘b’?bb Options ‘C’, ‘E’, 'K’ Options ‘C’, ‘H’, ‘J’, ‘K’
Analog Input Filtered Value X028 1. X »> 2 f’e(/oé(/’ Op.
. . o, 0,380, P 2
Analog Input Function - Overview Input Error [ 0X68.1.0x02 L inearization Function O Mo s e "o Ver Koy, o, N Y, Ay s, 004, o So e, <0%6\
i izati unction - oy 2 S $0p, 0 R, "o,
Instance 1 RTD Lead Resistance |-2x68.1.0x03y, Overview ¢ ¢ ¢ ¢ ¢ ¢ A OO /g 20 ’3’@ 7‘ ,?(/‘;;?(/ %(7;’012@40 /?@//ZO@&? . A/?'o‘/ <O%Z)< Oﬁ 0@ 2?0, <o /;} O,Z) % ) o
: 0x68, 1, 0x04 S+ %, O, /7 '91 /7 %oy & /1/ IS % V8 9,8, A S 0. %0 A w 0% 0 "2 oy, 8,
Ambient Temperature —————2""—"3p Instance 1 tq, 7 % A, %,7 4, ’77 O, O Y& 9, € s S 6’/ € 0 (R Ty 70, e, 00, Sy X RS © NS
_ P 0x68. 1. 0x0 Output Value [2x86. 1. 0x07 > 4(902(90,/"/ Zé/ < ”9/ J’% % @@ S, S, BN, g i o@f Se O’/; 5’40; ZO' OO" 4;76’0 089304% &@f &@/,f@/,g? /,g’b,, e s 4%;? ’
Electrical Input Offset —'—’A Output Error 0x86. 1. 0x1C | %, //;,b N 9,, s% ‘9’70' @/®0, @ ‘9/70,‘96/ 9,70, %, o,/)/ S5, @/} o,/7 J/ /o,) Y s % /,) /}oo 00,7 09/ % O’O/ O//),« O//),« O//),« o, @6 Oo' 0,7 s
Electrical Input Slope [ 2X68. 1. 0x0By, 0x86. 1. 0x04 PV Function - Overview
—1_:—>
| Dot o 900 | o015, Sorcs vl e AR R R RN R R R RN R
Output Value Ox7E, 1, 0x16 » Heat Power 0x6C, 1, 0x0B
Output Error 0x7E, 1, 0x1C > . ] Cool Power 0x6C, 1, OXO_F,
OX7E. 1. Ox1 Control Function - Overview 0x6C. 1. 0x2
Source Function A = 0x86, 2, 0x01 Source Value A (51010 Instance 1 Power (OX0C.1. 02,
Source Instance A= 0x86, 2, 0x02 Source Value B 1OX7E. 1, Ox11y, Closed-Loop Set Point -2X6B. 1. 0x07,
Function = 0x86, 2, 0x05 ) 0x6B. 1. 0x0
Units = 0x86, 2, 0x1D > Open Loop Set Point 48>
Input Point 1 = 0x86, 2, 0x08 - 0x6C, 1, Ox1§
Sensor Type = 0x68, 2, 0x05 Output Point 1= 0x86, 2, 0x12 > Autotune Status
TC Linearization = 0x68, 2, 0x06 Input Point 2 = 0x86, 2, 0x09 Open Loop Error [2X6C. 1. 0x3G,
RTD Leads = 0x68, 2, 0x07 Output Point 2 = 0x86, 2, 0x13 , 0x6C, 1, 0x0
gnltls =LOX68,02,6%X22A0 oF Input Point 3 = 0x86, 2, 0x0A Control Active Mode 42>
cale Low = 0x68, 2, Ox Output Point 3 = 0x86, 2, 0x14 int 0x6B, 1, 0x0
Scale High = 0x68, 2, 0x10 o Point 4 = 0x86. 5 008 Bumpless Set Point 2X6B.1.0x04,
nput Poin x86, 2, 0x 0x6B, 1, Ox1
Eange hqu:f %x%% 22 %x1112 Output Point 4 = 0x86, 2, 0x15 Ramp Set Point (Produced) 40>
ange nigh = Ux6o, 2, Ux Input Point 5 = 0x86, 2, 0x0C - . 0x6B, 1, OX'Ié,
Process Error Enable = 0x68, 2, Ox1E Oﬁtput Point 5 = 0x86, 2, 0x16 ' e Ramp Set Point (TaI’QEt)
Process Error Low Value = 0x68, 2, 0x1F Input Point 6 = 0x86, 2, 0x0D ® > Idle Set Point |-0X6B. 1. 0x13,
Thermistor Curve = 0x68, 2, 0x26 Output Point 6 = 0x86, 2, 0x17
Remstance Range = 0x68, 2, 0x25 Input Point 7 = 0x86, 2, 0xOE
Filter = 0x68, 2, 0x0E Output Point 7 = 0x86, 2, 0x18
g{pu: Ergr '-?t_chm_gg 2263 (2) %10 Input Point 8 = 0x86, 2, OxOF
ISpiay Frecision = Lxoo, £, X Output Point 8 = 0x86, 2, 0x19 Output Function = 0x6A, 3, 0x05 Output Type = 0x76, 3, 0x01 Range Low = 0x76, 3, 0x0B Output Function = 0x6A, 4, 0x05
Calibration Offset = 0x68, 2, 0x0C Inout Point 9 = 0x86. 2. 0x10 . ) - .
Clear Latch Request = 0x68, 2, 0x1D P ; - e Output Function Instance = 0x6A, 3, 0x06 Output Function = 0x76, 3, 0x02 Range High = 0x76, 3, 0x0C Output Function Instance = 0x6A, 4, 0x06
e Output Point 9_‘ 0x86, 2, Ox1A Output Control = 0x6A, 3, 0x02 Retransmit Source = 0x76, 3, 0x03 Output Low Power Scale = 0x76, 3, 0xOD  Output Control = 0x6A, 4, 0x02
Input Point 10 = _0X86' 2, 0x11 Output Time Base = 0x6A, 3, 0x03 Output Function Instance = 0x76, 3, 0x04 Output High Power Scale = 0x76, 3, 0xOE ~ Output Time Base = 0x6A, 4, 0x03
') Output Point 10 = 0x86, 2, 0x1B Output Low Power Scale = 0x6A, 3, 0x09 Scale Low = 0x76, 3, 0x09 Offset = 0x76, 3, 0x07 Output Low Power Scale = 0x6A, 4, 0x09
A% e, ,9 % Offset = 0x86, 2, 0x06 Output High Power Scale = 0x8A, 3, 0x0A Scale High = 0x76, 3, 0x0A Output High Power Scale = 0x8A, 4, 0x0A
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SRR Ll it B S e e st
0. 6. 8. /}0,06‘//@ e 78, O 0. 6.7 8.
” Q5,90 %, ’$’ A% St Sos s 7 Gy, 0
R2, S—'—>2 12 Analog Input Analog Input Value (Unfiltered) 0x68, 2, Ox01§ ¢ ¢ ¢ ¢ ¢ Tor % % % %@ e /70 <% O "0 e Ve e 7o, %% e %
Analog Input Filtered Value 0x68, 2, 0x16 » ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢ ¢
Analog Input Function - Overview Input Error [0X68.2.0x02 oo — on = .
» ; it [P Output Function = Off Output Function = Off Output Function = Off
Instance 2 RTD Lead Resistance |2X68.2. 0x03y, Lmearlzoa\tlleorr\]/igijncuon 2 Output Function Instance = 1 Output Function Instance = 1 2 Output Function Instance = 1
Ambient Temperature |-2x68. 2. 0x04y, Instance 1 0x86. 2. 0X07 Output Digital Function - Output Process Function Output Digital Function -
Electrical Input Offset -2x68. 2. 0x0A Output Value — Overview - Overview Overview
Electrical Input SI 0x68, 2, 0x0 Output Error [ 2X86.2. 0x1C Instance 3 Source Value [2X6A. 3. 0x0 Instance 3 Source Value [0X76.3, 0x12y Instance 4 Source Value |-2X6A. 4. 0x0
ectrical Input Slope —'—B>
) 0x68, 2, 0x150 Source Value A 4}0)(86’ 2, 0x04 Source Error 4>0X6A’ 3, 0xOR, Electrical Output Offset 45“(76’ 3,0x0 Source Error —;MA 4. 0xOR
Electrical Measurement > | 0x6A, 3, 0x0B Electrical | 0X76, 3, 0x06, OxBA, 4, 0x0B
Not in 1/32 DIN nput State ectrical Output Slope Input State
A N'IOt in|1/32t 8”\: Auxilary Input Option Output Power |-9X6A. 3. 0x0 Analog Out Control Operation |-2X/6.3. 0x11y, Output Power -2X6A. 4. 0x0
uxilary Input Option
Output Value M} Output Value 0x76, 3, Ox1 Output Value M
W3, X3, Y3, or F3, H3, G3 W4, Y4 or
Not in 1/32 DIN J3.K3, L3 Not in 1/32 DIN Not in 1/32 DIN Ka. L4
Time Proportioning Output Process Output Option ‘F’ Time Proportioning Output
Options ‘C’, ‘E’, ‘'K Options ‘C’, ‘H’, 'J’, ‘'K
Alarm Type = 0x6D, 1, Ox0F Alarm Type = 0x6D, 2, Ox0F Alarm Type = 0x6D, 3, Ox0F Alarm Type = 0x6D, 4, 0xOF
Alarm Source = 0x6D, 1, 0x11 Alarm Source = 0x6D, 2, 0x11 Alarm Source = 0x6D, 3, 0x11 Alarm Source = 0x6D, 4, 0x11
Alarm Source Instance = 0x6D, 1, 0x12 Alarm Source Instance = 0x6D, 2, 0x12 Alarm Source Instance = 0x6D, 3, 0x12 Alarm Source Instance = 0x6D, 4, 0x12
Control Loop = 0x6D, 1, 0x17 Control Loop = 0x6D, 2, 0x17 Control Loop = 0x6D, 3, 0x17 Control Loop = 0x6D, 4, 0x17
Alarm Hysteresis = 0x6D, 1, 0x03 Alarm Hysteresis = 0x6D, 2, 0x03 Alarm Hysteresis = 0x6D, 3, 0x03 Alarm Hysteresis = 0x6D, 4, 0x03
Alarm Logic = 0x6D, 1, 0x05 Alarm Logic = 0x6D, 2, 0x05 Alarm Logic = 0x6D, 3, 0x05 Alarm Logic = 0x6D, 4, 0x05
Alarm Sides = 0x6D, 1, 0x04 Alarm Sides = 0x6D, 2, 0x04 Alarm Sides = 0x6D, 3, 0x04 Alarm Sides = 0x6D, 4, 0x04
Alarm Low Set Point = 0x6D, 1, 0x02 Alarm Low Set Point = 0x6D, 2, 0x02 Alarm Low Set Point = 0x6D, 3, 0x02 Alarm Low Set Point = 0x6D, 4, 0x02
Alarm High Set Point = 0x6D, 1, 0x01 Alarm High Set Point = 0x6D, 2, 0x01 Alarm High Set Point = 0x6D, 3, 0x01 Alarm High Set Point = 0x6D, 4, 0x01
Alarm Latching = 0x6D, 1, 0x07 Alarm Latching = 0x6D, 2, 0x07 Alarm Latching = 0x6D, 3, 0x07 Alarm Latching = 0x6D, 4, 0x07
Alarm Blocking = 0x6D, 1, 0x08 Alarm Blocking = 0x6D, 2, 0x08 Alarm Blocking = 0x6D, 3, 0x08 Alarm Blocking = 0x6D, 4, 0x08
Alarm Silencing = 0x6D, 1, 0x06 Alarm Silencing = 0x6D, 2, 0x06 Alarm Silencing = 0x6D, 3, 0x06 Alarm Silencing = 0x6D, 4, 0x06
Alarm Display = 0x6D, 1, 0x10 Alarm Display = 0x6D, 2, 0x10 Alarm Display = 0x6D, 3, 0x10 Alarm Display = 0x6D, 4, 0x10
Alarm Delay Time = 0x6D, 1, 0x15 Alarm Delay Time = 0x6D, 2, 0x15 Alarm Delay Time = 0x6D, 3, 0x15 Alarm Delay Time = 0x6D, 4, 0x15
Alarm Clear Request = 0x6D, 1, 0x0D Alarm Clear Request = 0x6D, 2, 0x0D Alarm Clear Request = 0x6D, 3, 0x0D Alarm Clear Request = 0x6D, 4, 0x0D
Alarm Silence Request = 0x6D, 1, OxOE Alarm Silence Request = 0x6D, 2, OxOE Alarm Silence Request = 0x6D, 3, OxOE Alarm Silence Request = 0x6D, 4, Ox0E
s, b, U s,
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! =X L 01}00‘9/)0 Active Level = Ox6E, 4, L ’}6,7‘9’70 Alarm Source = Analog Input Alarm State  |10X6D. 1. 0x0 Alarm Source = Analog Input Alarm State |12X6D. 2. 0x0 Alarm Source = Analog Input Alarm State  |12X6D. 3. 0x0 Alarm Source = Analog Input Alarm State |0X6D. 4. 0x0
Action Function = (1x6E, 3, 0x03 7 Action Function = (1x6E, 4,0x03 & ® —» Alarm Source Instance = 1 0x6D, 1, 0x0A —»| Alarm Source Instance = 1 0x6D. 2. Ox0OA —— Alarm Source Instance = 1 0x6D. 3. 0x0A ——» Alarm Source Instance = 1 0x6D, 4, 0x0
Function Instance = 0x6E, 3, 0x04 ¢ ¢ ¢ Function Instance = 0x6E, 4, 0x04 ¢ ¢ ¢ Control Loop = 1 Alarm Latched 4'L¥ Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched —’—’4 Control Loop = 1 Alarm Latched %

— » EZK = Alarm Function - Overview Alarm Silenced -2X6D. 1. 0x08, Alarm Function - Overview Alarm Silenced -2X6D. 2. 0x05, Alarm Function - Overview Alarm Silenced -2X6D.3. 0x05, Alarm Function - Overview Alarm Silenced -2X6D.4. 0x08,
ey ey Inst 1 Inst 2 Inst 3 Inst 4
Function Key - Overview Function Key - Overview nstance Alarm Clearable 0x6D, 1, 0x0 nstance Alarm Clearable 0x6D, 2, 0x0 nstance Alarm Clearable 0x6D, 3. 0x0 nstance Alarm Clearable 0x6D, 4, 0x0
Instance 1 Instance 2 Alarm Working Process Value 0x6D, 1, Ox1 Alarm Working Process Value 0x6D, 2, Ox1 Alarm Working Process Value 0x6D, 3, Ox1 Alarm Working Process Value 0x6D, 4, Ox1
Event Status |-0X6E. 3. 0x0 Event Status |-0X6E. 4. 0x0 Alarm Working Set Point 0x6D, 1, 0x1 Alarm Working Set Point 0x6D, 2, 0x1 Alarm Working Set Point 0x6D, 3, 0x1 Alarm Working Set Point 0x6D, 4, 0x1
Input State AOXGA‘ 1.0x0 Input State AOXGA‘ 2, 0x0 Output Value 4“6'3' 1, 0x1 Output Value —’—MD 2, 0x1 Output Value —’—’—8>0X6D 3, 0x1 Output Value 4“6[)' 4, 0x1
Not in 1/32 DIN Not in 1/32 or 1/16 DIN
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